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( NATIONALISED BANKS & IBPS PO/MT/SO EXAMS

question are given two statements (A)
and (B). These statements may be el-
ther tndependent causes or may be
effects of independent causes. One of
these statements may be the effect of
the other statement. Read both the
statements and decide which of the
following answer choice correctly de-
picts the relationship between these
two statements.
(Syndicate Bank PO Exam. 10, 10.2004)

Mark answer (1) if statements (A)
Is the cause and statement (B) is its
effect.
Mark answer (2} it statement (B)

Is the cause and statement (A) is the

effect.
Mark answer (3) if both the state-

ments (A) and (B) are independent
causes.
Mark answer (4) if both the state-
ments {A) and (B) are effects of inde-
pendent causes., :
Mark answer (5) if both the state-
ments (A) and (B) are effects of some
common cause. :
L. A. Major part of the sugarcane
crop were affected by pests re-
sulting into huge loss incurred

by the farmers in the state.

B. The farmers in the state who
were cultivating sugarcane ear-
lier have now switched over to

grapes cultivation this year.
2. A. There has been a high in-
i crease in the incidents of atroci-
ties against women in the city
during the past few months.

B. The police authority has been un-
able to nab the culprits who are
conrnitting crime against women.

3. A. The government has recently
fixed the fees for professional
courses offered by the unaided

Institutions which are much
lower than the fees charged last
year.

B. The parents of the aspiring stu-
dents launched a severe agita-

Directions (1-5) : Below in each |

8. (A} Government owned of ‘f‘"f
Com, ¢

panies have reduceq th; F o
prices of petroleum with 3, "*g!“'l
iyt it i I
fees € un- e ent has
;hi:e}cll?i:sﬂtuﬂona. ® an appeal to the public tg :t ﬂ”"
4. A. The Prime Minlster has vis- duce corg;mc!:apuon of petyy. “‘1
fted the drought aﬂ'ecteti areas - 'l;hu:n pgucel:. uu.mmyh . 5“"
d promised government assis- . Asre. |
f:ncgto help the farmers. cently caught a group o G‘: 4
B. Alarge number of farmers in the housebrealkers, P
drought affected areas have (B) The citizens groupin thej,, ﬂ’
been suffering due to drought cality have started night vigy ‘ﬂ’ﬂ
situation and are unable to feed in the area. _ 59
their family. 8. (A) The Government has
8. A. All the lakes supplying water to allow private universiye,
to the city started overflowing at to run their won courseg ar. 4
the end of the second month of ter obtaining necessary a,. ¢
the monsoon. provals. #
B. The normat life in therclty has (B) There has been continugyg ¢
been disrupted quite a few times decrease in number of sty.
the first two months of the mon- dents enrolled for varigyg §
soon due to water logging at vari- courses offered by the Goy. f
-0us parts. ernment run universities,
Directions (6-11) ; Below in 9. (A} The wholesale grain market 1;
each question are given two state- is flooded with fresh stock, '
ments (A) and (B). These statements (B) The Government has | l&
may be either independent causes or increased the procurement
may be effects of independent causes price of grains. !
or a common causes. Ong of these y 1
statements may be the effect of the | 19 ¥ g;egﬁg Se::l‘t:f";ty tl;aa -
other statements. Reach both the attend special ol u er; b“; |
statements and decide which of the ond tg; Sc asscstobe
following answer choice correctly de- | Conducted on Sundays.
picts the relationship between these . (B} The parents of the X Std. stu-
two statements. . dents have withdrawn their
(Corporation Bank PO wards from attending private
Exam, 09.07.2006) tuitions conducted on Sun-
Mark answer (1) if statement (A) days.
is the cause and statement (B) | 11- () 'l?lc V"tltag;‘-ﬂ}h;\;le decided to
is iis effect, 0y COo! ¢ forthcoming as-
Mark answer (2) if statement (B) sembly elections.
is the cause and statement (A} {s {B) The State Government has
its effect. reil::lently revised the electoral
Mark answer (3) if both the state- TofL
ments (A) and (B) are indepen- Directions (12-16) : In each of
dent causes, ;he foclllgwlng questiogsi; two statineatﬁ
Mark answer (4) if both the'state- | * and B are given. There may
ments (A) and (B) are effect of ﬁuse and effect relationship bet:::&
independent causes, m:mmﬁﬂmﬁgﬁﬁg state
Mark answer (8) if both the state- Y € .
or independent causes. These state
ments (A) and (B) are effects of ments may be independent causes
Some common cause. | without having any relationship. Read
f p—1
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[* e B ver accordingly. | i st atonship between these
;,dﬂ’”k ,’:f po Exam. 14.09.2008) {Oriental Bank Of Commerce PO
; W,ﬂ anewer as— Exam. 21.12.2008)
nt { 7o aswer (1): fstatement A (- oask answer (1) if statement (a)
lve% / fruse and statement B is itg Bﬁecf cause and statement {B) is its
""‘131%"&3"‘l v anower (2) : i statement B Mark answer (2) if statement (5|
g, Uy e - @, and statement A is its | IS cause and statement (A) is ;t.: :a:ctf
ey, "y :‘ e 2% Mark answer (3) if both the
'the‘baa %t aewer (3): If both atate- Statements (A) and (B) are independent
p, pllhlklh% a::;dgaremdcpendmt caug- | Causes
ts, “oploy [ @: i both stat:g::t;(:;“:; ((;)) if b?l;h the
; answer (4) ¢ state- an are effecis of
N o B are effects of indepen- | [1d¢pendent casues.
R N i Mark answer (5) if both the
r by [, answer (8) ¢ if both state. | Statements (4) and (B) are effects of
°"D1,, G‘"md B are cffects of some | SOTC COmmon cause
"teq mgh‘%h P Am use. 17. (A} There has been heavy rains
it Y %t.&: School education ::g;c t;atch:lm:nt a;ez; °{uthe
8 su n, I'inkKin,
"-"l?;%% s pas beent made free of cost for ) ;vihater to ulf:'l: étyg g
1 ’ . ¢ Municipal authority has
. 00"::’? mtmt;ﬂt Bl .c l:ﬁg“}'?:g’ rate suspendedl:ﬁlc pmpoe;yd cut
N m lrnepgir been 18. (8 ih:[l water supply to the city.
- 8 used Govern-
:;;’;th,% 3, Statement A t; Halli-;arldng of mﬁ’{ l:rl{agnﬂsl:;:rt to travel to
or "fsln old orn&mcn was introduced the holy shrine,
. Vau% all over the country. (B} The cost of travel by private
Ylheo,'!  gatement B : Many customers transport is very high.
Wity |  do not prefer to buy Hallmark | 18, (A) The prices of vegetables have
“nma,h Jewellery. ) increased substantially
Sh Stoy | 14, Statement A : The food prices during past few weeks.
13 touched an all timne high durin {B) Consumer price index at the
m"eﬂm this weekend. : - end of previous week was
‘ Statement B : Many shops were increased by 2 per cent.
Hity by raided and adulerated food items [ 20. (A) Many anti - social elements
denty were seized. are caught by the police from
es (g}, | 15 Statement A : The average in- the locality.
7. come of the common man has (B) Many people in the locallty
sy increased. are dgtanﬁzd by the police for
T they Statement B : The country's 21. (A) q:d?n; em'ployees of the
prival ecm_:omyclixas improved since the company proceeded on a
18- | lastdecade. day’s leave on Friday.
16 Statement A : The number of (B) Both Thursday and Saturday
Jad o people Sl.lﬂ.eﬂﬂg from stomach were declared hollday bythe
gas |  aliments has been increasing in company.
the area. Directions (22-28) : In each of
hs | Statement B : Many dead fish- | the following questions two statements
o ¢s were found at the shore of | () and (B) are given. These statements
the like. may be either independent causes or
d | Directions (17-21) : Below fneach | may be effects of Independent causes
s | ¢8on are given two statements (A) | or a common cause. One of these
ir |24 (B). These statements may be | statemenis may be the effect of the
1 | herindependent causes or may be | other statement. Read both the state-
 {9cts of independent causes or a | ments and decide which of the follow-
¢ 1"8mon cauge. One of these | ing answer cholces correctly depicts
» ts may be the effect of the | the relationship between these two
 1%her statement. Read both the | statements.
B ents and decide which of the (PNB Agriculture Officer

Ibnm“g answer choice correctly
|

Exam. 04.01.2009)
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Give answer (1) if statement (A)
is the causc and statement (B) is its
effect.

answer (2) If statement (B)
is theG:av:sc and sg)tcment (A) 18 1ts
effect.

Give answer (3) If both the state-
ments (A) and (B) are independent
causes,

Give answer (4) if both the state-
ments (A} and (B) are effects of inde-

ndent causes.

> Give answer (5) if both the state-

ments (A and (B) are effects of some

cOommon cause.

22, (A) s locii administration an-
nounces to block many
roads of the town for one day
owing to influx of many. pit- ]

Many schools of the town

® decl:red holiday on the day
pllgrims came to tt:; ;ﬂ .
The prices of vege! v

=0 reduced considerably during
the past two weeks.

(B) The prices of foodgrains have
reduced considerably during
the past two weeks.

24. (A) The employees of an union
of an organisation have ap-
pealed to its members to give
their best to boost produc-
tion in the coming months.

(B) The management of an or-
ganisation has . nour~ed
productivity linke: jonu for
its employees.

28, (A) The production of wheat dur-
ing the current year breaks
all the past records.

(B) The production of w. at in
last year was much les.. than
the production in the previ-
ous year.

26. (A) The large shareholders of the
company decided to buy the
shares of small sharehol -
ers.

(B) The company is suffering
loss for the last three quar-
ters.

Directions (27-31) : Below in

. each question are given two state-

ments (A) and (B). These statements
may be either independent causes or
may be effects of independent causes
Oor a common cause. One of these
statements may be the effect of the
other statement. Read both the state-
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ments and decide which of the follow- Directions {32-36) : Below in | 38. (A) 35::,::%& *lgn e
Ing answer choice correctly depicts | each question are given two state- elling by gy, “p%kﬂ:% P‘otu
the relationship between these two | ments (A} and (B). These statements quarter. du"“ﬁ W f':‘:"I
statements. may be either independent causes or (B) There i RN ‘
{Indjan Oversens Bank PO | may be effects of independent causes fth a slgnmeam |I ‘
Fxam. 05.04.2008) | or a common cause. One of these " ;Eyu;‘mﬂol‘p%km% E 1
llll‘l&nswer(l). if statement (A} statements may be the effect of tthe mglﬁ%% . \ [ﬂ’ ‘

is the cause and Statement (B) i3 its | other statement. Read both the state- . tqu%l'ih\ ;
effect. ments and decide which onhedr:p{lz:s- 57 decline in :;Txhe;: Vag Q-E]Qy i t

Mark answer (2), ifstatement (B) | ing answer choices correctly mber o _ :

18 the cause and statement (A) is its | the relationship between these two :::g’o::: lllli:;&mpt%p:h’uh“:: @ |
effect, statements, ' ey ]

Mark answer (3), if both the | (Audhra Bank PO Exam. 05.07.2000) :Vl'ltfl glllﬂ?é thfe last fory,, 1 de
Statements (4) ang (B} are independent Mark answer (1) if statement (A) tiat u‘: P ¢ lollowing Suby,, | |
causes, is the cause and statement (B) is its abo:rae st:x t:;t-‘-" mery ed gy > " ‘

Mark answer (4), if both the | effect, g N |
statements (4) and (B) are effects of Mark answer (2) if statement (E) (1) Majority of the PeOple gy

Independent causes, | is the cause and statement (A) is its ?gwlj'rom flu vigyt the heay,

Mark answer (5), if both the | effect, oo tesin the cyy, 5
Statements (A) and (B) are effects of Mark answer (3) if both the @ ‘Ihe:rehaabeenamnun% @
Some common cause, statements (A} and (B) are indepen- mcreetl_se In the sage o Mg,

27 A : Allthe atrlines companiesin | dent causes, : ]?&e; Or curing fly jn gy, %
India have increased the ajr- Mark answer (4) if both the | - . :
fares in all routes with im- | statements (A} and (B) are effects of {3 People have s Vi p
mediate effect, independent causes. the crowded places like pe
B : There has been substantial Mark answer (8) if both the and cinema halls durip s
reduction in aviation fue] statements (A} and (B) are effects of last fortnight afte, acay by
prices In India during the | some common cause. tioned gap of one month, e
Past few weeks, 32. (A) Many elderly people are con- (4) There is sudden incregy, m 48 co!
28.A : There has been continuous tinuously harassed by the the number of deaths Clugy  gjeme
increase in average temper- youngsters in the locality. by flu like symptoms followeg  gorst
ature during winter in many (B) Many children in the by respiratory Complications, s
parts of the country over the - locality play till Jate in (©) None of these ats
past few years, (prmumhankmnamn. 22112005 e rel2
B : There has been significant 33. () The state government has | ag, Cause : A severe cycloni story  glecne
changes in the wind pattern decided to e the sylia- Swept away most part of the 0
;!01;;0?8 the country over the bus of Mathematics for Std, | State during the last tyq days,
ast lew years. . IX from the next academic Which of the foll
29. A : The conditions of all the ma- year. a possible etget?:v::fl‘g m lhlel:

Jor roads in the city have de- (B) Many students from the state cause ? !M

terlorated causing hardship could not secure admission (1) Heavy rainfall was reporteg ¢

to motorists. to the colleges of thefr in most part of the ﬁtzo?m, ‘
B: The municipal authority have cholce, - ing the last two days the

sanctioned significant 34. (A} Majority of the employees of (2) Many People were rendered .

amount {o repair all the ma- the manufact com L

Jor roads in the city. a hefty bopus m homeless as their houses -

30.4 : The BPO sector has laid off end of the current finaneia) e flown away. s,
a number of employ- vear 3) T;xfh communication e;sglst? s
eeain th ) Ol the state was severely af-
.  recent months (B) The manUfaMgmmpany ‘ fected and continues tobe 2!
B : Very few projects are now has made considernble profit out of ey
outsourced to BPO gec- in the current financial O gear. i
tor. year. (4) Government has ordered
. 38. () The Municipal authority de. that all the offices and M|
S1.A : There has been sharp de- ided
clded to carry oyt repair schools should be keptopen. ¥y
cline in sales of Passenger k of
_ work of the pipeline under () All ble effects. Uy
cars during the jagt few the main arte road of the are possible
months, (Corporation Bll;w
B : Many finance companies (B) Veh Exam. 32.11
ehicular
have announced attractiye dlvertomd tohvmel::;:tal?a? 99. Effect : The prices °fpet‘r°leu|:n
schemes of car loans with nate roads for a perjoq orgrf- products have mmasedthz
moderate interest rate, teen days pe about twenty per cent in
) Past two months.
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r following can be a 41. (4) Ah ture
iy, I caus of th above . housing compiex e a soue. | > o g e aencased b
€y : Ing gas cylinder loded about 2 degrees in the cur*
hetr fect ?eP rices of foodgrains and one of the flats lerﬁ,he em:l;:l rent year over the average of
Of oy, M mgcwbles have shot up by plex. past ten years. n rural
%f;& ::bre than thirty per cel:ttj. (B) Residents of the housing 8. Marcoreas gt? ?l?éztgzénl;gave start-
. g k owners’ association complex came runnin, ar-
?"a L}ﬂ ¢ o ﬂ”dﬂ:ﬁded to increase thelr theltl') houses a::il assgrgg]teg g"ﬂ:}‘f’,‘;‘;’;‘gﬁ?&b&“ the
. 0{3 a pent about 20 per cent In the open courtyard. earlier year.
%a"ﬂu;tt (n immediate effect. 42. (A} Three top players of the In- | 48. A. Most of the shopkcePefo:;
litg rices of crude oil in the dian cricket missed all the the locality their s
. ey The P ntinuous
o g!gt 0 nal :;W‘k;ltyh:"il in- ;natchea of the five match g::' the second co
! _ d considerably durin, ournament due to injury. Y
gli:b“hl the past few weeks. ¢ (B) India lost the cricket i:fma- B. Twohgr °;;‘;§,‘i’{yp?,°g§ 1ng§
[lluIe j ple have ded‘t:.lhe‘j to dem- ment to the visitors with a iil;httl:g with each other Wliué
Pla onsirate against the Govern- 2 : 3 margin, bricks and stones forcin
he 2, ! ment'sapathy towardsrisein | 43. () The municipal authority ad- people to stay indoors. g
. | pricesof essential commodi- vised all the schools in the | 47, A The Government has deci 0}
Ry, ties city to close down for the next ed to increase the Pl:i‘l-fin_
50{,:% (5) None of these two days. LPG gas cﬁ}_rllrtlders wi
n lhe;d;' {Corporation Bank PO (B} A huge storm 1s likely to hit frn;diéte :nf::én ¢ has decid-
Exam. 22.11.2009 the city during the next two B. The Gov
viy cions (40-44) : Below 1 days, ed to increase the prices o
e 9 | pirec . | 44 (A The prices of foodgrains have kerosene
gy uestion are given two state fect.
nng ah 8 Th tate increased by about 20 per torm is expected
the {A) and (B). These statements 48, A. Acyclonics
2ty cither independent causes or cent over the same period last to hit the coastline in the
@, M:y effects of independent causes year. state during the next 48
2 oy .;mm on cause. One of these (B) The prices of vegetables have hours.
gy ra ts may be the effect of the substantiallyi decreased dur- B. Warning has been issued gltl;
_ ing the past few weeks. heavy rains are expecte
lowy |\ statement. Read both the state tal 1 in the state
) Directions (45-49) : Below in the coastal regio:
"% | gats and decide which of the follow each question aré given two state during the next 48 hours.
tly depicts " -
- ggﬁmﬁéﬁigggc tl}';eszpifvo ments (A} and (B). These statements | 49. A. zﬂajgi?g;heigf:g;%f;
ents o -
r is. may be either independent causes or lege failed in Maihematics in
o [salemer may be effects of Independent causes g
the (Bank Of India Banking Officer the semester examination.
or a commeon cause. One of these .
s Exam. 24.01.2010} B. The college authority termi-
be 1} if state t (A) statements may be the effect of the nated the contract of the pro-
. men -
‘ Mark answer (1) if s (B) 1s its | other statement. Read both the state fessor who taught mathemat-
* [sthe cause and statement ments and decide which of the follow- ion to the firat year Stidente.
diect. (2) i statement (8] ing answer choices correctly depicts 50. Statement : Many persons in
Mark answer

the relationship between these two

" [sthe cause and statement (A) is its | statements.
elect. " (Punjab & Sind Bank PO
' Mark answer (3) if both the state- Ezam. 16.06.2010)
ments (A) and (B) are independent Mark answer (1) if statement (4)
causes, is the cause and statement (B) is its
Mark answer (4) if both the state- | effect.
%nts (A) and {B) are effects of inde- Mark answer (2) if statement (B)

kndent causes.

’ Mark answer (5) if both the state-
%nts {A) and (B) are effects of some
1l cause, §
b. Majority of the students of d
the school passed in Math-
ematics in the annual exami-

nation,
B Majority of the students of
the school failed in English

is the cause and statement (A) is its
effect. '

Mark answer (3) if both the
tatements (A) and (B} are indepen-
ent causes.

Mark answer (4) if both the

statements (A) and (B) are effects of
independent causes.

Mark answer (8) if both the

statements (A) and (B) are effects of

in the annul examination.
.

S0Ime commorn cause.

[ BPRE-891 |

the locality are diagnosed to be

suffering from gastro-intestinal

diseases after consuming poor
quality drinking water supplied
by the municipal authority.

Which of the following substan-

tiates the facts stated in the

above statement ?

(1) Gastro-intestinal diseases
are not very severe in nature

(2) People suffering from gastro-
Intestinal diseases need not

. take medicines. .

(3) Many people suffer from gas-
tro-intestinal diseases after
consuming stale food.

{4) Gastro-intestinal diseases
are waterborne diseases.

{5) None of these

{Bank Of Baroda PO Exam. 30.08.2010)
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81. Otatemant : Many students were
caught while using unfalr means
durtng the final examinattons by
the special tearn of the university.

Which of the following can be a
posaihie ence of the facts

atated In the above statement ?

4 The teachers responasible for
invigilation in all such eami-
nation halls where the students
were caught are to be suspend-
ed from: their services,

(8) All those students who were
caught while uaing unfair
menns are to be debarred
from appearing in these ex-
aminations for a year.

(C) The college should be hlack-
listed by the university for
holding final examinations at
least for a year,

(1Only(4)  (2) Only (B)
) Only{C) (4)Only(Band(C)

(5) None of these

(Bagk Of Baroda PO
Exam. 30.08.2010)
83. Statoment ; Based on the find-
Ings of a recent study, it has
been reported that reguler con-

sumption of ripe mango helps in
controlling blood pressure as it
increases the level of potasstum
in the blood stream,

oovemmm“"’" wpeﬂ:
O e oo manee
ment for their negligence:

at of the
(C) The manageme r
il oo oo

fences till the boun
are erected.
{1) Only (A)
{2) Only (B)
(3) Only {C)
(4) Only (A} and (C)
(5} None of these of PO
Exam, 50.08.3010)

54. Statement : The prices u-.;f

‘oodgrains and other esaen
Zommodmes have decreased for

the second consecutive wca':ak.
ollowing can be a

meorch::;umoe gf the facts

stated in the above statement ?

(A) The consumer price index will
come down conasiderably.

{B) People will increase their pur-
chase of quantity of essen-
tial commodities and food
graina.

{C) Government will increase its
taxes on essential commeodi-

ties and food grains.
(1) Only (A) and (B)
{2) Only (B) and (C)

Which of the following contra-
dicts the findings reported in the
above statement ?

(1) Increased level of potasajum
in blood stream enhances
quality of health

(2) Many people who consume
ripe mangoea regularly were
found to be suffering from
hypertenaion ,

(3) Consumption of ripe mango

(3) Only (A) and (C)
(4} All (A), (B) and (C)
(8) None of thess
88. Effect : The temple at the reli-
glous site wears a deserted look
with the number of devotees
trickling down.
Which of the following can be a
f;Epc::u;‘}lble cause of the above ef-

(5) A famous actorr\ /

1
ited the temple a:?; ““}rm 0
respects to the deltypm hy
{PNB m""'ieng.
Em, 23'11
68. Statements : The |y, Qtaq
authorities carrieg on?"“

three different bugyy, -
in the city last weel, h““a:: # ::
Which of the follorwmg can B
possible effect of },, ey 4
(1) The three busineg,

are regular defaultemlllnou% g:

ment of their income 1, "% 0
(2) The Income Tax de
had received a tip o ab%t

the illegal activities
in the three hgmﬁet;n f
s

houses.

(3) The Government ¢
look mtt:d the matte: :ﬁ:ﬂ h: [
appointed an inquiry comy: |
tee. W i

(4) Other business hougeg
immedtate action to cleg,
all their income tax duegﬁ 1
order to avold a ra{d oy, they,
establishments,

(5) The authorities inteng 1o com,
duct raids in severy Othe.
business houses in the vich:
ity.

{PNB Management
Exam. 811309 9
87. Effect: Asastepto regulate py.
vate hospitals, the state bealth
department 1s framing rujes to
ensure all such hospitals are reg-
fstered with it,

Which of the following can be 5
possible cause of the above
statement ?

(1) The department realised the

helps in sto )
mthebody, ot oo ctural engineer had vis- private h
4} Ry e templ rivate hospital
@ per manscy . mt:n; good source and had dcgl:r:gl 3?:25’,3‘2" much less for triasn:gr?trgg
(5) None of these ture unsafe. compared to government hos-
(Bazk Of Baroda Po {2} The temple {s facing a dras- pitals.
Bra, 30.05,3010) te depletion of jtg funds (%) Government run hospitals do
B3. Otatement ; Most part of the which had accumulated gyer not maintain the same stan-
boundary wails of the local the years due to offerings dards as private hospitals.
n.dww: completely last ) Theloe dmteet:;n 3 T'g‘feg:lpk:runlentmanmmm
Which of the following can be o {0 donate q huge mﬂ:“.ﬁf’;‘} ing caee: :l:att?::l'earcirgjrﬁ:
stated “"‘ﬂ'""‘““ money to the temple for j1a frastructure
o mmc m;e statement 7 . Tenovation, (@) Apart from 'the number of
close down‘duum '“"“l"" “u;ﬂl “ m‘u‘;‘ulﬂ housing the pej;. doctors, nurses and beds,
boundary Whlchoom m‘m. flous *te has qualifieq the kind of procedure a hos
A to perform religious Pital can carry out based on

| ceremonieg, its glll.jfrutructure will also be
fegistered and detalled.
BPRE-8p2 _
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hosp 3 Nor regis-
2\ """‘ff‘z‘\ L ate i the department ::? 3 and dectde which of the foriou.
ty Aoy Sy, . gertnd ed to do answer-choice corr
Q“J‘:he !:.' \ will have 10 PaY hefty penat- 5P between these two
() 8
&::t b'*?lqo'*?u M;ﬁuﬁ Management Trainee (Orlental Bank 0f Commeroe ro
- fo,‘:eeke‘a Exam. 28.11.2010 Ezam, ’5-1:-12,1:[10 {Ist it
f t : The college hag fi. irk angwer statement
°°‘°:;":§ # B ceived accreditation ang iaffgéf cause and statement (5 15 5?8
, d the status of X
4 bl.l ] pas gaineé it a mn.m 24
| e ovingcan e | 102 Shs s v
b“l‘l:h%;q “:;s]b]e effect of the above °t,
- T ::k ¥ (atement ? m entsmrkm (3) if both the state-
d 5 4 ) The principal of the college caus {A) and (B) are independent
cﬂmup of it will now have to be a retireqd es.
tre, eg & ib% ernment official, me t:llrkmmw Ifboth the state-
u ) Number of students seeking m‘; - (:\) and (B) are effects of inde-
ent d ; admission to this college in 7" causes,
Mg, the next acadermic year woulq Mark answex (8) if both the state-
'Ilqu&e; drop significantly. gents (A) and (B) are effects of some
{3) The college will charge lesger n cause.
s b fees from all its students da- 80. (A) Asthma cases tn the city are
on Uty spite not getting a grant fromy 0D a continuous rise since
[:n t;: Cley, the government, last year,
rag 0 (4) The college will reduce the ®) The number of commonty
dop number of courses that it mdm;:“‘ﬂ&aispaﬁ
n runs by a significant margin, * and pigeons
;::;h% (6) The reputation of the college ' gﬁﬂgﬁ;’;&tﬁ:g&lﬁmw
t the stud - )
tn lheggf ;;n;o ;g;cnei:i }l:a:nl;.,ﬁ:;; 61. (4) Prices of food grains in India
(PNB Management Traince has increased substantially.
d "hh,, Exam. 28.11.2010) (B} Lakhs of farmers have quit
’0.11.301(! ' Which of the following { " farming owing to the lack of
Sulateyn # sible cause of —The hgu::lgpgs: lgovemmen'tal sepport tn the
ateb&h clety has decided to charge a orm of subsidies.
My fine to all those who wast 62. (A) The university decided to
sars o5’ ? ¢ wa- postpone the final exams for
1 Some members ofth h Sourse X by a month.
e e hous-
Can be; ing society have been wast- (B) Nearly twenty five students
 abor ¢ out of sixty students in
' ing a Jot of water course X failed to pass the
o (2) Most members of the society final exams Jast year.
:m te are unwilling to pay a fine Directions (63-86) : Read the
: e (3) The charges for water have | given statemenis carefully and answer
"0t & decreased the questions which follow.
thoe {4) Number of people wasting (Indian Bank PO Exam. 02.01,2011
water has gone down/re- (Ist sitting)
Jsth duced in the society 83. After the government announced
Im' (5) The housing society has a a compensatory policy for farm-
1. new management comumittee ers in return for the acquisition
i (Oriental Bank Of Commerce PO of their land, the farmers de-
,ﬁ' Exam, 26.12.2010 (Ist sitting) manded a written proof of the
"| _ Directions (60-62) : Below in polcy.
,{ Question are given two state- Which of the following could pos-
fients (A) and (B). These statements sibly be a CAUSE for demand-
i Ty be either independent causes or ing the wriiten proof ?
" Maybe effects of tndepenident causes (1) The farmers were unable to
ora common cause. One of these contest the Inadequate com-
ts may be the effect of the pensation for their land in
“her statement, Read both the state- earlier such policies.
..... r e -
~ { BPRE-893

{2) The compensation promised
in the policy was grossly in-
adequate,

(3} The farmers were unwilling
to surrender their lands to
the government.

(4) The farmers demand a cer-
tain-percentage of share out
of the revenue generated by
the government off their
lands.

{5) The option to enforce the
goveomnlg'nent officials to frame
a compensatory policy for the
farmers was to demand a
proof.

64. The number of cases conceIn-
ing a non-contaglous chemical

poisoning is on the rise among

local villagers.

Which of the following could pos-

sibly be a CAUSE of the state-

ment given above ?

(1) The government has ordered
an immediate enquiry into
the matter.

(2) Unless timely treatment is
provided to the patients, the
poisoning can prove to be fa-
tal.

(3) Many factories surrounding
the village do not dispose off
their wastes appropriately.

(4) The only hospital in the area
Is not equipped to treat chem-
ical poisoning related ail-
ments.

(5) A study done a couple of
years agoe had reported that
a large number of farmers
had stopped using chemical
fertilizers owing to their 1l1-
effects on health.

68. In a governmental Initiative

which started a couple of years

ago, school teachers of a partic-

ular State were engaged in teach-

Ing the illiterate every evening

after the regular school hours.

Which of the following can be an

EFFECT of the statement given

above ?

(1) A report given to the State
government a couple of years
ago stated a high percen
of lliterate pOpl%haﬂon as ﬂ
pared to some other States.

{2) Many teachers were motivat-
ed to join the scheme start-
ed by the government ag the
remuneration provided to
them was attractive.
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the State. -

attend classes after work.

this year.
88. Small grocery shop owners have
gone on a day's strike In order

o protest against the entry of a
foreign retail store chain in the
city.

Which of the following state-
ments can be an EFFECT of the
statement given above ?
(1) The smali grocery shop own-
ers perceive the big retall gi-
ants as sharks, trying to
dominate the available mar-
ket space.
(2) Foreign investment in retall
has shown a tremendous
growth iIn India since a cou-
ple of years,
{3} There have been several
countries in which retail
chain giants have totally
wiped out small scale grocery
shops.
(4) The government agreed to
take all political steps re-
quired to safeguard the inter-
ests of small scale retallers.
(5) A recent survey indicated that
a large number of people pre-
fer to buy their daily grocery
items from the nearby gro-
cery stores rather than big
retail chain stores.
Directions (67-69) : Below in
cach question are given two state-
ments {A) and (B). These statements
may be either independent causes or
may be effects of independent causes
or a common cause. One of these
statements may be the effect of the
other statement. Read both the state-
ments and decide which of the follow-
Ing answer choice correctly depicts
the relationship between these two
statements.

(Unton Bank Of india PO

Exam. 09.01.2001)

Mark answer (1) if statement (A)

8 the cause and statement (B) {3 its
ffect,

Mark answer (2) if statement (B)

 the cause and statement (A) is its
fect.

{3} Lack of accessibility to schools
and extreme poverty were
major causes of illiteracy in

(4} Evening classes help individ-
uals working as daily wagers

(5) The literacy rate in the State
has improved significantly

statements (A) and
some common cause,

Maxk answer {(3) if both the state-
ments (A) and (B) are independent

causes.
Mark answer (4) if both the state-
ments {A} and (B} are effects of inde-

pendent causes.

. Mark answer (3} If both the state-
ments {A) and (B} are effecta f’f some

CONUNMon cause,

67. (1) Government has increased
number of buses plying be-
tween Mumbai and Surat.

(2) The government has allowed
private bus owners to oper-
ate between Mumbal and Su-
rat.

(1) The assoctation of manage-
ment colleges conducted a
combined admission exam for
all the institutes thisyear.

(2) As the dates for entrance
exam for many l;la;a%eﬂ;eal:t
colleges clashe: sL year,
n:lamy'g candidates complained
that they could not appear for
a number of entrance exams.

(1) The department store owner
put cameras for surveillance
of the store. .

(2} Many products were report-
ed missing by the staff work-
ing in the departmental store.

Directions (70-74) : Below in

each question are given two state-

ments (A} and (B). These statements
may be either independent causes or
may be effects of independent causes
or a common cause, One of these
statements may be the effect of the
other statement. Read both the state-
ments and decide which of the follow-
ing answer choice correctly depicts
the relationship between these two

statements,

68,

(Punjab & Sind Bank PO

Mark answer (1) if statement (A)
is the cause and statement (B) is its
effect,
Mark answer (2) if statement (B)
is the cause and statement (A) 1s its
effect.
Mark answer (9) if both the
statements (A) and (B} are Indepen-
dent causes.
Mark answer (4) If both the
statements (A) and (B) are effects of
independent cauges.
Mark answer (5) if both the
(B) are effects of

70. {A) State Governmeng

Exam, 23.01.2011) |

——

dered immediate harl: :a or.

1]
ing of certain movie o}, - -
on television, han"‘ela

Few soclal activig
® come together and cl: hay,
ed ban on telecasting - -
movies on tclevisiol:-:‘?’ Aduyy
71. (A) Employment scenarig in
country has l’emarkably I
proved recently, -
(B) The number of prog
job-seekers going ahm?tﬁ:::
increased recently,

. Government has tight
T ety checks ot aughmf;';‘f ‘
tant places and also gt
ous public places,
" (B) Incidences of terrorist 4
are increasing day by day, |
73. (A} High court has fixed 3 o
limit for repairing ay) the
roads in the city.

(B} Road Development Authop.
ties in the city are
out road repair work on y,.
gent basis.

74. (A) There is an outbreak of gey.
eral epldemics in the couy,.
try.

(B} There was a worst flood gt f
uation ever experienced jp
the past in most parts of the
country.

78, It has been reported in recent
years that a very large number

of seats in the engineering col.

leges in the country remain va-

cant at the end of the admissjon
session. :

Which of the following may be

the probable cause of the above

effect?

{1) There has been a consider-
able decrease in hiring of en-
gineering graduates due to
economic slowdown in the
recent years

(2} Students have always pre-
ferred to complete graduation
in three years time instead
of four years for engineering.

(3) The Government has recent-
ly decided to provide post
qualification professional
training to all engineering
graduates at its own cost.

(4) There has always been avery
POOT success rate among the
engineering students.

(5) None of these

(TBPS Bank PO/MT CWE
Ezam. 18.09.2011)
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I%taq o & mec"“ deteriorated consider-

" \ !‘dqga’ the first two months

vy . and most of the
§ . on

hl" l f :%o’;,s;re developed big pot

4
b
8 Gy U, ds
%lzg % ! hﬂ"f‘h of the following can be a

n
i“i:g Yos lgle effect of the above
| oﬂ‘;’; » municipal corporation
med repaired all the roads in
,ihl‘% ﬂhlae city before onset of mon-
ifg}' soon with good quality mate-
w!u:e" A large number of people
Oatl, | d have developed spine relat-
. ed injuries after regularly
¢ commuting long distances by
Y day road within the city.
q "mg (9 The municipal corporation
q| U has been careful in choosing
the contractors for repairing
iy roads in the past.
lr%‘ (4) People always complain about
Ny, potholed roads during the
monsoon months.
v, (5) None of these
g, (IBPS Bank PO/MT CWE
Exam. 18.09.2011)
, Majority of the students who ap-
7. Mafor in the final examination
of post graduate course in man-
agement in the local college have
secured first class which is com-
paratively higher than the per-

formance of students of other
management colleges in the
state,
Which of the following may indi-
cate that the results are not in
Iine with the general trend?
{1) The students of the local col-
lege are qualitatively better
than those of other colleges
(2} The authorities of the other
management colleges in the
state are stricter in their stan-
dard of evaluation for their
students,
(3) The students of other man-
agement colleges in the state
performed better than the
students of the local college
in all the previous examina-
tions

[4) The local management college
recently retrenched many of
its regular faculty members.

(5 None of these

(IBPS Bank PO/MT CWE
Exam. 16.00.2011)

g newspapers that the cur.
rent year'’s monscon may be be-
low the expected level as many
parts of the country are still not
getting adequate rainfall,

Which of the following can be a

Pposaible fallout of the above sit-

uation ?

(1) People from those affected
areas with less rainfall may
migrate to urban areas

{2} Government may announce
ex-gratia payment to all the
farmers affected in these ar-
eas

(3) Government may declare
these areas as drought af-
fected areas.

(4) People may blame the Gov-
emment and agitate for not
getting adequate water for

(5) None of these
(IBPS Bank PO/MT CWE
Exam. 18.09.2011)
78. There has been a spate of rail
accidents in India in the recent
months killing large numbers of
Passengers and injuring many
more, This has raised serious

.doubts about the railway's capa-

bility of providing safety to trav-

ellers,

Which of the following state-

ments substantiates the views

expressed in the above state-
ment?

(1) Indian Railways has come to
be known to provide best pas-
senger comfort in the recent
years

(2) People have no option other

than travelling by rail over

long distances.

(3) The railway tracks at many
places have been found to be
stressed due to wear and tear
in the recent times,

(4) Local residents are always
the first to provide a helping
hand to the passengers in
the event of such disasters,

(5) None of these

(IBPS Bank PO/MT CWE
Exam. 18.09.2011)

| BPRE-895 |
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/dm:n: the roads In the 78. It has been reported in many 80. There has been a considerable

drop in sales of four wheelers

during the past six months when

compared to the number of four
wheelers sold during this peri-
od last year,

Which of the following can be the
probable caunse of the above phe-
nomenon?

(8) The Government has imposed
higher excise duty on four
wheelers at the beginning of
this year.

(B) The petrol prices have risen
considerably during the past
eight months.

(C) The rate of interest on home
and car loans have been ris-
ing for the past seven
months.

(1) All {a), (B) and (C)

{2) (A) and (C) Only

(3) (B) and (C) Only

{4) (B) Only

(5) (A) Only

(IBPS Bank PO/MT CWE
Exam. 18.09.2011)
Directions (81-82) : In each of
the questions below is given a state-
ment, followed by a question. Read the
statement carefully and answer the
question that follows. _
{IBPS Specialist Officer CWE
Exam. 11.03.2012)
81. Statement : The State Govern-
. ment granted special status to
- the seminar on the importance
of protecting the environment
around us organised by the lo-
cal academic body to create
awareness among the citizens,

Which of the following may be a

probable reason for the State

Government's decision?

(1) The Central Government has

* accorded highest priority to
Issues related to protection
of environment, over all oth-

. €r Issues.

(2) In the past the State Gov-
ernment had granted special
status to such eeminars

(3) The State Government has
failed to implement mea-
sures for protecting the en-
vironment

(4) The local academic body
made a fervent appeal for the
special status

(5) None of these
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83. Statement : Most car manufac-
reduced
the price of their products: de-
spite higher input costs and in-
Creased Government duties and
° have promised to keep the pric-
€3 at the present level for at
least the next couple of months.
Which of the following can be a
best possible reason for the
ab??ve step by car manufactur-
ers

turers have

- (1) Car manufacturers have not
been able to meet their sales
target for the current Yyear

8o far.
(2) The Government is pl

to review .taxes on the raw

materials for manufacturing

cars.
(3} The car sales market is go-
ing through a jubilant phase
as the volume of sales has
picked up considerably in
the recent past and profit per
car has also gone up.
(4} Car buyers are still hesitant
to make their purchases and
may postpone for another
few months.

(5) Ofl marketing companies are
contemplating reviewing the
petrol and diesel prices in
arder to decide future mar-
ket prices.

83. Effect : The temple at the

religious site wears a deserted
look with the number of devotees
trickling down.
Which of the following can be a
possible cause of the above ef-
fect?

{I) Astructural engineer had vis-
ited the temple a month back
and had declared the struc-
ture unsafe.

{2} The temple is facing a dras-
tic depletion of its funds
which had accumulated over
the years due to offerings
made by devotees.

(3) The local corporation decided
to donate a huge amount of
money to the temple for its
renovation.

(4) The village housing the reli-
glous site has qualified
priests to perform religious
ceremonies.

88. Effect: Asa step toregulate pri-

(5} A famous actor recently vis-
ited the temple and paid his
respects to the deity.

(IBPS Specialist Officer CWE
Exam.17.03.2013)

84. Statements : The Income Tax
authorities carried out raids at

three different business houses

in the city last week.

Which of the following can be a

possible effect of the above

statement 7

(1) The three business houses |
are regular defaulters in pay-
ment of their income tax.

{2) The Income Tax department
had received a tip off about
the illegal activities going on
in the three business
houses.

(3) The Government decided to
look into the matter and has
appointed an inquiry commit-
tee.

{4) Other business houses took
immediate action to clear off
all their income tax dues in
order to avoid a raid on their
establishments.

(5) The authorities intend to con-
duct raids in several other
business houses in the vicin-
ity.

(IBPS Specialist Officer CWE
Exam.17.03.2013)

vate hospitals, the state bealth
department is framing rules to
ensure all such hospitals are reg-
istered with it.
Which of the following can be a
possible cause of the above
statement ?
(1) The department realised the
private hospitals charge
much less for treatment as
compared to government hos-
pitals. .
(2) Government run hospitals do
not maintain the same stan-
dards as private hospitals.
(3) The department realised that
several hospitals were reject-
ing cases stating lack of in-
frastructure.
{4} Apart from the number of
doctors, nurses and beds,
the kind of procedure a hos-
pital can carry out based on
its infrastructure will also be

given

87.

registered and detailed.

e m m T Emmn e

(5) Private hospitals nor

68. Statement : The cg 1y

nally received aocra;lieée hasg,
has gained the staty,
deemed university,
Which of the l'ollawing be

. possible effect of the 4, 2
statement ? Ove

(1) The principal of the oy

-

™y ? ‘:-I.ﬁl

tering with the qepa.. c&a.
shall be forced mm
will have to h ¢
ties. pay e&yh : ' 1:;‘ ‘
(BPS Bpecialist Ot
lnm.l?.oa,ag'l

Uon ang

aol‘a
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will now have tobe g reg:"éd
government official.

{2) Number of students

admission to this muegeek"h‘& €
the next amdmlcmw
drop significantly,

(3) The college will charge *

fees from all its studentg de.

spite not getting a grant from
the government.

(4) The college will reduce the

number of courses that y

runs by a significant

(5) The reputation of the colles,

amongst the student
tion in general has

(IBPS Specialist Officer cyy §
Exam. 17.03.2013]

Directions (87-89) : Read the

statements car and answey

the questions which follow.

(IBPS Specialist Officer Cwy

Exam.17.08.3013)
After the government announced
a compensatory policy for farm-
ers in return for the acquisition
of their land, the farmers-de-
manded a written proof of the
policy.

Which of the following could pos-

sibly be a Cause for demanding

the written proof ?

{1) The farmers were unable to
contest the inadequate com-
pensation for thelr land in
earlier such policies.

(2) The compensation promised
in the policy was grossly in
adequate.

(3) The farmers were unwilling
to surrender their lands ¥
the government.

(4) The farmers demand a ceri
tain-percentage of share®
of the revenue generd b’yr
the government off the
lands.
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of cases concern-

. umber
g P me P -contagious chemical
%"ea?»z;;} ”wga:mgggntheﬂseamong

the most plansiblc canse oy it
_. jllagers. aunse of th
i pdl of the following could pos- “ﬂﬁmgtvmmmeabovestat:
"h" ’mw‘l;c:eameofﬂlestatement Iments ?
gl:g - , Senabore ? () 'gue lifestyle and food habits
he V3, %) The government has ordered people are responsible for
" Wt W, immediate enquity into @ state
e matter. )} Environmental
be a %i ! o 3:,1333 timely treatment is has led to thne 1::rg:eg:‘:at(flltul;;:f
| : provided to the patients, the tion

W/ poisoning can prove to be fa-

Many factories surro
the village do not dispose off
their wastes appropriately,
(4) The only hospital in the area

1s not equipped to treat chem-

ical poisoning related ail-
ments.

(5) A study done a couple of

" years ago had reported that
a large number of farmers
had stopped using chemical
fertilizers owing to their jilI-
effects on health.

g0, Small grocery shop owners have
gone on a day’s strike in order
to protest against the entry ofa
foreign retail store chain in the

@

clty.
Which of the following state-
ments can be an Effect of the
statement given above 7
(1) The small grocery shop own-
ers perceive the big retail gi-
ants as sharks, trying to |
dominate the available mar-
ket space.
(2) Foreign investment in retail
has shown a tremendous
growth in India since a cou-
ple of years.
(3) There have been several
countries in which retail
chain glants have totally
wiped out small scale grocery
shops.

(4) The government agreed to
taie all political steps re-
quired to safeguard the inter-
ests of small scale retailers.

(5) A recent survey indicated that

a Jarge number of people pre-

fer to buy their datly grocery

jtems from the nearby gro-
cery stores rather than big.

(3) The people remain ignorant
above thefr health e

{4) Technological advancement
and fast pace of life are con-
tributing to the spread of dis-
eases

(5) None of these
(IBPS Bank PO/MT CWE-II,
26.10.2013)
91. Cause : A severe cyclonic storm
swept away most part of the
state during the last two days.

Which of the following cannot be

a possible effect of the above

cause 7

(1) Heavy rainfall was reported
in most part of the state dur-
ing the last two days.

(2) Many people were rendered
homeless as their houses
were flown away.

{3} The communication system
of the state was severely af-
fected and continues to be
out of gear.

{(4) Government has ordered
that all the offices and
schools should be kept open.

(5) All are possible effects.

92, Effect : The temple at the reli-
gious site wears a deserted Jook.
with the number of devotees
trickling down.

Which of the following can be a
possible cause of the above ef-
fect?

(1) Astructural engineer had vis-
ited the temple a month back
and had declared the struc-
ture unsafe,

(2) The temple is facing a dras-
tic depletion of its funds
which had accumulated over
the years due to offerings

retail chain stores.

i BPRE-897

made by devotees.
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(3) The local corporation decided
to donate a huge amount of
money to the temple for its
renovation.

(4} The village h the reli-
gious site has qualified
priests to perform religious
ceremonies.,

(5) A famous actor recently vis-
ited the temple and patd his
respects to the deity.

Corporation Bank arketing)
¢ o m:l? gzl.oz.aoul

Directions (93-97) : Below In
each question are given two Btﬂtet;
ments (4) and [B). These statemel‘lor
may be either independent causcs
may be effects of independent causcs
or a common cause. One of these
statements may be the effect of the
other statement. Read both the state-
ments and decide which of the follow-
ing answer choices correctly depicts
the relationship between these two
statements.

B Manipal School of Banking
ogt?er Onll:e Exam, 14.08.2014)

answer {1} if statement (A)
is m?:tse and s&alement (B} is its
e s ) if statement (B)

Mark answer (2) if s men
Is the cause and statement {a) is its
cifect.

Mark answer (3} if both the state-
ments (A) and (B) are independent
causes,

Mark answer (4) if both the state-
ments (A) and (B) are effects of inde-
pendent causes.

Mark answer (5) if both the state-
ments (A) and (B) are effects of some
comimon cause.

93. A. Rural and semi-urban areas

in the country have been suf-
fering due to load-shedding
for quite some time.
If the Government is not
able to overcome the power
crists, load-shedding will be
extended even to the urban
areas

Importance of Yoga and ex-
ercise is being realised by all
sections of the society.
There is an increasing aware-
ness about health in the so-
ciety particularly among
middle-aged group of people.
The staff of Airport Authori-
ties called off the strike they
were observing in protest
against privatization.

05. A.

|
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B. Thestaff of. Alrport Authori-
tes went on strike anticipat.
ing a threat to their Jobs.

96. A. Standard of living among the
middle class society is con-
stantly going up since past
few years,

B. Indian Economy is obsery-

ing remarkable growth.

97. A. Thelife today is too fast, de-
manding and full of variety

In all aspects which at times

leads to stressful situations,

B. Number of suicide cases
among teenagers is on in-

Crease.

96. Statement : A private school X
; preferably gives admission to

{B) There s three thmes increase
in the sale of the new sniper
than that of ordinary sniper.

{1} Statement (A} is the cause
and Statement (B} is its effect

{2) Statement (B) is the cause
and Statement (A) 1s its effect

(3} Both the Statements {A) and
(B) are independent causes

{4) Both the Statements (A) and
{B) are effects of independent
causes

{5) Both the statements (A) and
(B) are effects of some com-
Ion cause

(IDBI Bank Officer
Exam, 22.08.2014}

Directions (100-103) : Study

wealthy students and denies
admission to poor students.

Which of the following may be

the most appropriate cause of

denying admission to poor stu-
dents ?

(1) Private school intends to
make only money by giving
admissions to wealthy
students

{2} Poor students lack basic
knowledge and they are
weak in study

(3) Wealthy students possess
more knowledge than that of
poor students

(4) School ‘X’ spends excess
funds to maintain the build-
ings and other components
of the school and so it re-
- quires more money

advertisements attracts more differ-

the following information and five state-
ments given below it carefully and
angwer the questions which follow :
(IBPS Bank PO/MT
CWE-1v, 18.10.2014)
Advertisements play an important
role in the sell of a product. Adver-
tisements help consumer to decide
which product he/she should buy. In
the absence of advertisements con-
sumer has very little cholces to buy
the products of his/her needs,
(A) Advertisements highlight only
the bright side of the product. They
do not reveal the weak features of the
product.
(B} Most of the people wish that
companies should stop issuing adver-
tisements as these attract people and
they start using the glamorous arti-
cles.

{C} The increased frequency of

(5) None of these
99. Two statements (A} and (B) are

ucts,
given below. These statements
may be either independent caus. {D) The products which are heavily
es or may be effects of indepen- advertised attract a large number of
dent causes or a common cause. | PCoPI€and they start buying the prod-
One of these statements may be ucts. For example, a large number of
the effect of the other statement, | PCOP.C PUY Potato chips,
Read the statements and select (E) Consumers lose faith in the
the most appropriate answer. advertisement when they do not find
(&) According to the System Doc the products upto mark.
" | 100. Which of the statements num-

ument, Country ‘A’ has made
an indigenous sniper, the
bullets of which are very
long. It can be used for lIong
range. The placement of bul-
let is very accurate In this
sniper. The effective range of

ent classes of people to buy the prod-

bered (4), (B}, (C), (D} and (E)
mentioned above represents an
effect of the given information
most appropriately ?

(1) Only () (2) Only ()
(3) Only (C)

(4) Only(C) and (D)

101. Which of the sta ts
bered (A). (B). (C). (p) o, um.
mentioned above woulgy we,
en/contradict the fact, ak.
ed in the paragraph 7 Preseny.
{1} Only (A)and (B)

{2} Only (B) and (C})

(3} Only {C) and (D)

4) Only (D} (5) Only (&)
102. Which of the statements p,, ¢
bered (A)L(B). (). (D) gpq ™

mentioned above represey,
cause for issuing a‘d‘“‘-‘l'lla: ‘5;

ments?
(1) Only (A) (2]0nly{C}and oy
{3) Only (B)

(4) Only (B} and (E)

{5) Only (A} and (E)

103. Which of the statementg nu,
bered (A),(B).{C).{D) anqg E) ey,
tioned above highlights the lim.
tation of an adwv: to
(DOonlky(D) (2) Only ()

(3} Only (A)

(4) Only (B) and (E)

(5) Only (C) and (E)

104. Statement A : In the pag; few
years, enrolment in

schools of country Mating ha;
declined from 133.7 million

121 million per year, While eq.

rolment in private schoolg hag

increased from 51 million g 78

million per year.

Statement B : Due to lack of

funds, government schools of

Matino are unable to hire prop-

erly trained teachers who would

be able to provide good |
environment to the students,

{1) Statement (B) is the cause
and statement (4} is jts ef-
fect.

b Béoth the statements {A) anq
(B) are effects of some com-

mon cause.

(3) Statement (a) is the cause
and statement (B) is its of-
fect.

{4) Both the statements (A) and
(B) are effects of independent
causes,

(5) Both the statements (A) and
{B) are independent causes.

105. Statement A : The IT resources
of company X are often mea-
sured by its employees, which
sometimes creates unwanted
risk and Habilities for the com-

f

¢

s

the sniper is 2300 metres,

(5} Only (D) and (E)

pany,
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;talq \!lg gt oring online activities of rod
peT™ toyees OR official comput- Productivity of the em
et Q ployees,
L may block content which ) Statement (B) is carefully and answer the ques-
ﬂ?ccls may adversely affect the and statement [A}the cause tion which follows :
HIE ity of the emtf‘loy ces. fects. Is its ef- a Inﬂ:g)slte of conducting several
ware. TO|
G j;j,‘f,’&iﬁfngt s the cause | (%) Bath the satements (4 nd | o vome help from the Government
&"ﬁh"m ' e he statem mon cause. of some com- | guccessful in lzura? ;}'ﬁpﬁf?me ;uy
Cy P the ﬂé_‘: e t_el'lts (A} and (3) Statement (A) is the ‘Which of the following statements
v, 8 (B)are € ects ol some com- state causeand | cannot be a reason for the given prob-
Ty mon CAuse- @ Bo ment (B) Is its effects, | lem?
qa"'d S statement (A} is the cause {B]th the statements (A) and {1) Mobility 1s highly limited for
(N and statement (B) is its ef- are effects of independent women due to social barriers
e & Both th 2) Wommen self.help groups are
4) Both the statements {A) and the statements (A) and omen seli-help grou
, ' (B are effects of independent (B) are independent causes. on uﬁ::o g?:?p:gwmu;i;?ﬁ;
;n‘% : causcs. (BOB Junior Management shortage.
ge 8 Both the statements (A} and Grade/Scale-1 Exam. 18.04.2015) (3) Women in rural areas of State
l;‘fm } (B) are independent causes. 108, Study the following information B hesitate in starting their
o of Baroda Junior Management carefully to answer the question own ventures due to lack of
{ rade/Scale- Eram, 16.04.2018) given below : practical knowledge. "
108 gtatement A : In the past few A fatal disease has spread across “ ?ur:-lgl zizﬁasogfﬂg‘»ia‘fcogegave
.I:nr‘?ltnentm Government &e ‘Spatter’ village of State X. Even matricuiation te.
Uey &ﬂﬁcdofroc;u?gg Matino has abough the prescribed medicine is {5) Self-help groups in rural ar-
i .7 million to undantly available in one of the cit- eas of State B lack an organ-
Ty 121 million per year, while en- | les near ‘Spatter’ which can cure the jsed structure to pump in
by rolment in private schools has disease, the Medical Association of th enough money for advertising
i increased from 51 million to 78 State has decided not to allow th ede their products.
% million per year. icine to b ¢ mec- (IBPS RRBs Officer Scale-1 & It
hay obe transported to ‘Spatter’ and CWE 13.09.2018)
gtatement B : Due to lack of | 18 calling the infected N
% peopletothecity | 110. Statement : Com Ah
funds, government sch tobe : Company A has ap-
ools of injected with the medicine
Matino are unable to hire prop- Which of the foll . proached the government with
i erly trained teachers who would | reason behin ¢ following can be & ?.pfmposal tobule and ofhe?
d be able to provide good } d the decision of the Med- nfrastructure for providing
) © ment to th egstud emﬂn.ts g | ical Association? {rvahr;:gort facilities in area X.
enviro ents. of the followin pos-
? (1) Statement (B) is the cause (m ‘;:lceAssoclatlon may not be sibly lead the ;overnr%gg:ﬂtg turn
and statement {A) is its effect. to earn high Pl‘Oﬂt? from down the proposal forwarded by
(&) Both the statements (A} and u:&elllnr' g the medicine to ‘Spat- Company A?
(B) are effects of some com- . (1) Residents of Area X and its
mon cause. (2) Many of the villagers may not adjoining areas have to walk
(3) Statement [A) is the cause and be able to afford the medi- for several kilometres to seek
statement (B) is its effect. cine as it is highly priced. transport facilities.
{4) Both the statements (A) and (3) The disease has started to @ Ctglr{npanwamch had under-
(B} are effects of independent spread in other villages also, oy similar projects earlier
causcs. making it challenging for the it?r rozuded to build good qual-
(5) Both the statements (A) and Association to provide the @ Alth s in the area.
(B) are independent causes. medicine everywhere. nee C"Dutgh. area X 1s in dire
(BOB Junior Management (4) Reported! c e lg li'gad and infrastruc-
Grade/Scale-1 Exam, 16.04.2015) y, many of the vil- e 1ac ties, any company
107, Statement A : The IT resources Egers are trying home reme- ‘:laiﬁhl‘:ndertmk it would not
of company X are often mea- es to reduce the effect of run ¢ huge profits in thelong
sured the disease and hence th '
by its employees, which mav not ey (4) Area X is a land wi
sometimes creates unwanted y not require the medicine. low economi th very
risk and labilities for the com- (5) If the medicine is not inject- and ncgliglbkf rggi%du:;ivity
ents.
pany. ed under the prescrlbed con- (5, Area X is the unofficial h b
Statement B : Company X will trolled environments, it may for transportation of .
be monitoring online activities of have adverse effects. ture goods from ;t: gricul-
its employees on official compul- (IBPS RRBs Officer Scale-1 & If State B. te A to
ersand lock content which
andmay b CWE 12.09.20185) (‘;"3 Bank PO/MT CWE-V
- ( — ain Exam. 31.10.2018)
—{_BPRE-899
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111. Study the followmg

and answer the question,

recently criticised for accepting a pro

of time with practice of solv-
Ing exam papers over the

years and many students may dren for interschool sports
not be able to grasp this di- competition this year as the
rectly in the standard nine. accommodations provided last
&) :“"‘"L.Vh “’ad”ﬂ: are th‘hc 01;‘“' year were substandard.
on tuat students have be- 4} The sponsors of School M
come very competitive and are “ have rﬂduced the funding of
mainly focused on acquiring the school by half this vear
marks rather than gaining ¢ 8ciool by y
knowledge. {5) Two-third students, out of
(4) Studies suggest that students those who went to the Inter-
become less prone to exam school competition last year,
anxiety and exam fear when either failed, or scored very
they get used to passing ex- low in the final exam and the
ams over the year as com- school did not consider giv-
pared to when they do not Ing them grace marks based
appear for an exam at all. on sports performance.
{5) Experts suggest that the spe- (IBPS Spectalist Officer (IT)
cial needs of children can be CWE 14.02.2016)
adequately assessed through

evaluation of thelr exam pa-
pers and early assessment
helps inftiate early interven-
tion and major projects
through exams,

(IBPS 8pecialist OMcer

information
The Government of State D was
posal as per which schools in the state

will not conduct exams up to standard medals,
nine. Rather, schools will promote all Which of the following may not
m:mmm standard nine and be a reason for the decreasc In
€ onwards the stu. inter-
e e be b r | ber s
depending upon their marks in the scheol sports compe
Which of the following may not (1) Parents of Students studylng
to
be & reason forthe crticm o [ I Sehol M areunling
the Government of State D for send thelr re
&ccepting the proposal? ml sports competition
(1) Several parents have raised *
concern that students would (2) Most coaches have resigned
not be willing to pay attention from School M this year as
In class and retain the infor- they got a much better offer
mation because they do not from School D, and School M
have to write exams. has not found a good replace-
(2) Students learn to write exam ment yet.
Papers in a stipulated period {3) Most parents of students

and (B). These statements may be et-

-] CAUSE & EFFECT

held this year. More participants
were expected from the achool
as last year out of its 19 partici-
pants 12 won gold medal while
others won sliver and bronze

studying In School M were
reluctant to send their chil-

SBI PO EXAMS

Directions (1-8): Below in each
questlons are given two statements (A)

w!i' CRFLT e W A
L]

(Marketing) CWE 01.02.20186)
112. Study the gtven information care-
fully and answer the question giv-

en below :

School M, which has always been
among the winning schools in
Interschool sports competitions
has sent only & participants for

ther independent causes or may be
effects of independent causes. One of
these statements may bé the effect of
the other statement. Read both the
statements and decide which of the
following answer choices correctly de-
picts the relationship betweean thege
two statements.

(8Bl PO Exam. 09.01.2008)

t.helnterschoolcompeut!m;tobe

e ——

———

Mark answer (1) if Btater,

s the cause and statemeny (8) 1y
effect. gy
Mark answer (2) if atgte

is the cause and statemeny (A)
effect. 8 1y

Mark answer (3) {f both the g
ments (A) and (B) are lnclependeni
causes,

Mark answer (4) If both the Stagy

ments {A) and (B) are eflfects of Ing,.

pendent causes

Mark answer (5) if both, State.

ments are effects of some commg,,

cause,

1. A Thecommittee appolnteq
the Government on th, fes
structure of the profeag
courses has drastically re.
duced the fees of Varigy,
courses in comparisop to
those charged in the lastyeqy

B. The parents of aspiring gy,

dents secking admissjon to
professional courgeg hag
launched a severe agitation
protesting against the p
fees charged by the Profes.
sfonal institutes and the a9,
mission process was delayeqd
considerably.

2. A, The farmers have decided
against selling their Khaps
crops to the Governmept

- agencies,

B. The Government has redyceq
the procurement price of
Kharif crops starting from
last month to the next six
months,

3. A The Reserve Bank of India
has recently put restrictions
on few small banks in the
country,

B. The small banks in the pd-
vate and co-operative sector
in India are not in a position
to withstand the competi-
tions of the bigger tn the pub-
lic sector.

4. A The performance of India
sportspersons in the recently
held Olympics could not
reach the level of expectation
the country had on them.

B. The performance of Indian
sportspersons in the last
Asfan games was far better
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than any previous games.
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-n'*!}:& \ P mber of people Itv. USE&EFFECT —
| {3?" porie I Direction,

fy i mwmmhm {8.9), St
Sy, Wt ph gt ol d the | 1°VINg informgy udy the fol. | m,
i, ¢ B g e | S e B | e e i
%, h‘:. l The § o runhed Taw o Bt BPeclalist Office; the relationship between these two
th, 'y 8 T ielief supplies to the Officer : Myqq statements.
Ing the in e living in the affected Online Ezam, | Scate.1n) (8BI
% %‘f peoP: Four M, + 18.04.2014) Probationary Officer
) mw. dedd.ed tQ l'“’a&,neut Insututes ha\’e Online Exam, 31.00.2010)
th 4 : Majority of the emplay- ston Test r°0nduct a Common Admis- Mark answer (1) if statement (A)
:%Ule 8 %, of the alling organization | 4., " OF Belecting suitable gangy. | 12 e cause and statement {B) ts its
Qf"ig‘ :;:cd o :;c;lel;tmﬂ?::y retirement | o Wol;ct;e new session, effect.
y an organization of th,
oy [ #ncithetrretirement benefits | PoSBible consequort, ™ D% | 15 the casce and statement () o i |
¢ %Q:% within 8 fortnight of la.unclung wdedslon ? (8) of this effect. i
the schemme- The would Mark answer te- '
ofy which of the following can be 5 one at:gfl.;an :13 take only ments (A) and [B]ta}a:-febi.;lﬂ;:m enslt:lacnt :
n & ﬂ,ubu cause of the above ef. B The year, P 3
| e o i e | 45 |
: %oq (1) The company has been fee save the application Mark answer (4) if both ﬂ“}'i;a;:: 3
?u}'e making huge losses for the © N . ments (A) and {B) are effects o
"‘rf%‘ t five years and is unable ow the aspirants will haye | PENdent causes. ._
o topay salary to its employees only one attempt to prove Mark answer (8) if both the state- \
), ! in time. themselves, ments (A} and (B) are effects of some
(@) The management of the @) Only the top most Institue | common cause. "
company made hy ge will receive more number of | 10. (8) A substantial increase in the e
personal gains through applications if aspirants fill unhealthy competition has ’l
unlawful activities. up different forms. been observed among the stu- g
(3) One of the competitors of the ® A large number of aspirants dents. [
company went bankrupt last would be selected as there (B) A rise of 23% is reported ev- :
year. - are more Institutes to accom- ery year In the cases of sui- :
(4) The company owns large modate them, . cldes after declaration of '.
tracts of land in the state (F) It is not possible to allot In- grade 10th and 12th exami- ' \
| which will fetch huge sum _ stitutes to the selected can- nation results. 3
its owmers. : didates as per their prefer- | 13, (4) The glaclers at the poles of the |
(5] None of these ences. earth are melting at a fast ki
(8BI & Rural Business PO (1) Only (B), (C) and (F) rate. 1
,  Exam, 18.04.2010) (2} Only (), (C) and (F) |
’ + The Gov ent has re. (3) Only (A), (B) and (E) {B) In recent times there has
cently increased its taxes on beena substantial in -
! 1 and diesel by about 10 {4) Only (C), {E) and (F) the incidents of earthquakes
| peroenp elr at. {5) Only (B}, (C} and (D) and volcanic eruptions.
‘ 8. Which of the following canbethe | 12.(A) Most of the shopkeepers in ;
Which of the following can be a probable cause decls pecpe -‘
possible effect of the above for this dectsion ? the locality closed thelr shops '
cause ? A To :liecli?ttc the most suitable for the second continuous
(1) The petroleum companies will can 8 day.
reduce the prices of petrol {B) To streamline the selection {B) Two groups of people living
and diesel by about 10 per- process in the locality have been fight-
cent. (C) To concede the demands of ing with each other with bricks
(2) The petroleurn companies will aspirants and stones forcing people to
increase the prices of petrol (1) Only {4) and (B) . stay indoors.
andt diesel by about 10 per- [* (2) Only (B) and (C) 18.(A) The Government has decided
cent. (3} Only (C) to increase the
prices of LPG
{3) The petroleum comPﬂ‘l_h:ggf (4} Only (A) and (C) gas cylinders with immediate
increase the pricesoi p (5) All B) and ff
and diesel by about 5 per- (A), (B) and (C) etiect.
cent. Diroctions (10~14) : Below in (B) The Government has decided
(4) The petrol pumps will stop each question are given two state- to increase the prices of ker-
selling petrol and diesel il ments (4) and (B). These statements osene with immediate effect,
the taxes are rolied back by [ may be either independent causes or | 14, () The country ‘X hagbanned the
the government. may be effects of independent causes import of fruit,
{5) None of these or & common cause. One of these
(DI & Rural Business PO | statements may be the effect of the (B) The intake of that fruit caus-
Ezam. 10.04.2010) | other statement. Read both the state- es disease.

———eme|  BPRE~00] e —
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statements.

common cause.

18. {A] There have been several in-
cidences of air mishaps

across the world which have

exposed gaps in air safety

measures.

(B) The international transpor-

tation safety board has pro-

posed to conduct an emer-

gency inspection of interna-

tional airports and airlines in

many counities.

16. {A) A majority of students per-

formed poorly during the
board exams this year.

(B) Teachers and the adminis-

trative staff have threatened

. to go on a sirike demanding

a raise in their salary pack-

ages.

17. {A) The government has formed
a task force to prevent ille-
gal felling of trees in several
parts of the country.

(B} The government has levied
severe penalty on the indus-
tries polluting nearby land
and water bodies to protect

Directions (15-19) : Below in
each questfon are given two atate-
ments (A) and (B}, These statements
may be either Independent causes or
may be effects of independent causes
or a common cause. One of these

statements may be the effect of the
other statement. Read hoth the state-
ments and decide which of the follow-
ing answer choices correctly depicts
the relationship between these two

{SBI Probationary Officer
Online Exam, 21.06.2014}

Mark answer (1) if statement (A)
is the cause and statement {B) is its

ments {4) and (B) are effects of some

effect. (B) Many farmers using geneti-

Mark answer (2) if statement (B) cally modified seeds have

is the cause and statement (A) is its been experiencing a signifi-

effect ' cant decline in soil fertility
Mark answer (3) if both the state- over the years.

ments {A) and (B} are independent Directions (20-24) : Below in

each question are given two state-

causesM‘. rk answer ments {A) and (B). These statements

(4)ifboth the state- may be either independent causes or

ments (A) and (B) are effects of inde- may be effects of independent causes

pendent causes. or a common cause. One of these

Mark answer (3) if both the state- | statements may be the effect of the

other statement. Read both the state-
ments and decide which of the follow-
ing answer choices correctly depicts
the relationship between these two
statements.

(SBI Probationary Officer
Online Exam, 28.06.2014)

Mark answer (1) if statement (A)
is the cause and statement {B) is its
effect.

Mark answer (2) if statement (B)
is the cause and statement (A} is its
effect

Mark answer (3) if both the state-
ments (A) and (B) are independent
causes.

Mark answer {4) if both the state-
ments (A) and (B) are effects of inde-
pendent causes.

Mark answer () if both the state-
ments (A) and (B) are effects of some
common cause.

20. () Municipal corporation of a
city has started providing
meals at the school to sup-
port the education of slum
children. It also started pro-
viding books free of cost to
the children so that it could
help them to study and mon-
etary issue do not hamper

the environment.

their education.

'l.f DIMTATN Aol n mes A =&

percent. The residential fla¢,
have become more costly
than earlier.
A hospital has lost the cag,
against its patient. The
patient has charged that
eating food from hospital he
has got down by the fooq
poisoning.
Hospital Management haye
become strict in brin, ng
food from outside the hosp|.
tal premise. The food made
in the canteen will only be
served inside the hospita]
premise.
23. (A) The temperature of the city
was the lowest during the
week. The city recorded low
temperature of the decade.
The city was also engulfed
in fog.
There was unusual delayin
the flights from the city and
80 passengers were
stranded at the airport. The
passengers faced many
problems at the airport.
The roads of City A get flood-
ed with vehicles during the
evening hour and major
parts of city face the prob-
lem of traffic jam.

(B) The level of air pollution has
been increased in the City A
these days.

28. Read the following information
carefully and answer the ques
tion which follows :

As per a recent survey 85% of

the work force today is either &

tively looking for a job or 0pe?
to talking to recruiters and el
vant opportunities; the ones
are satisfied with their job:

{B)

(B)

| CAUSE & EFFECT |- ——
- (B) In order to help g ‘;’»‘t’l
18. (A) Manysden“stsm'“‘““‘_ children in their studyu M
ed that extreme stress altu f books he the 4 PF
ations at the workplace lead prices o Ve beey U O
to various disorders ranging ?:;ﬁbgnaﬁmh;:: l{‘ ’
f:j:rlrmdlabetes to heart ail- Peen reduced by 50 Derc?na: ’

) 21. (A) Alegal notice was issueq
(B) In a major research $:ts;::: the High Court In CityA.:s: ﬁ
entists hﬂlvetjl;;oi‘:n sus- cording to this notice A
dian popula maore slum area In the Ciyy A P g
ceptible to heart ailments should not be removed, |
owing to their genetic make- legal noticé SUPpOTts the dl
up. slum area in City 4, {
19. (A) Many farmers have reverted slum area should be The t
to using traditional methods ed with better facilities, (
of agriculture from the ones (B) Builders of the City A hay, t
utilizing genetically modified increased the rate of - |
seeds. tial area in the City Aby 49 @
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- lationship between these two state-

12! each question are given two statements
2 ! (4] and (B). These statements may be

"o,
1

- ments may be the effect of the other
- and decide which of the following an-

/ e following may be g
i, which ?;':h the above mentioned
' ﬂ:f; of the survey ?
f'ﬁ” there is the wide array of
L opportunity today and head
) punters are always seeking
| for professionals, people are
\ not willing to let go of an op-
portunity to do something
new and chailenging
@ Aspera recent survey more
than 40% people today are
dissatisfled with thelr jobs as
there Is the wide gap be-
tween what they study in the
class room as compared to

the actual work they do.

@ Some people in the country
take education loan for com-
pleting higher education and
are expected to repay the
loans themselves after they
start working,

(4) As employees today are of
different age group and back-
grounds it becomes difficult
for the HR department to or-
ganize employment engage-
ment activities to improve the

Jjob satisfaction of employees
{5) Only a few people study for
high spectalized courses in
the country and they are ai-
ways in demand as there is
high scale gap in many or-
ganizations.
(SBI Associates PO Online
Exam, 30.11.2014)

Directions (26-30) : Below in

!

cither independent causes or may be
. tflects of independent causes or a
common cause. One of these state-

statement. Read both the statements
swer choices correctly depicts the re-

ments,
(SBI Management Exccutlve
Exam. 10.09.2014)

Mark answer (1) If statement (A)
is the cause and statement (B} 18 its
effect,

Mark answer (2) f statement (B)
18 the cause and statement (A} 1s its
effect

Mark answer (3) if both the state-

s,

-)’L/Vl/l LF I F IWET HW“Q‘EFFECT'F VAP T b FAT e W LK

answer
ments (A) and (g) &mmﬁ.m‘e'
common cauge, ol some
* W Municipal corporation of 4
clty has started Providing
meals at the school to sup-
ml'ltdthe education of slum

Vld,lnrell:- 1t also started pro-

8 books free of cost to

the children s6 that it could
help them to study and mon-
etary Issue do not hamper
their education.
In order to help shum children
In their study the prices of
books have been reduced by
40 percent. The prices of
uniform have also been
reduced by 50 percent.
A legal notice was issued by
the High Court in City A. Ac-
cording to this notice the
slumarea in the City A should
not be removed. The legal
notice supports the slum area
in City A. The slum area
should be provided with bet-
ter facilities.
Builders of the City A have
Increased the rate of residen-
tial area in the City A by 40
percent. The residential flats
have become more costly
than carlier.
A hospital has lost the case
against its patient. The
patient has charged that by
eating food from hospital he
has got down by the food
poisoning.

(B) Hospital Management have
become strict in bringing food
from outside the hospital
premise. The food made in
the canteen will only be
served inside the hospital
premise.

20. (A The temperature of the city
was the lowest during the
week. The city recorded low
temperature of the decade.
The city was also engulfed in
fog.

(B) There was unusual delay in
the flights from the city and
80 passengers were stranded
at the airport. The
passengers faced many

problems at the atrport.

——
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30. (A} The roads of City A get flood-

31.

ed with vehicles during the
evening hour and major
parts of city face the prob-
lem of traffic jam.

(B) The level of air pollution has
been increased in the City A
these days.

Statement : The renowned car

maker of the Country ‘X has ob-

served that its new ‘Zip Zap’ car
is very much in demand among
the customers, Car maker says
that it has provided special type
of seat belts in the car. The seat
belts are provided even at the rear

end of the car.

Which of the following is most
probable reason for the increase
in the sell of Zip Zap cars?
(1) The customers are very much
aware about thelr safety
{2) Zip Zap cars have speclal fa-
cilities which are not available
in the other cars.
(3) Zip Zap car has In corporated
most sophisticate technology.
{4) Zip Zap car is fuel efficient
(5) None of these
{SBI Management Executive
Exam. 19.00.2014)
Read the following information
carefully and answer the ques-
tion which follows :

As per a recent survey 85% of

the work force today is either ac-

tively looking for a job or open to
talking to recruiters and relevant
opportunities; the ones who are

satisfied with thelr job.

Which of the following may be a
reason for the above mentioned

results of the survey ?

(1) As there is the wide array of
opportunity today and head
hunters are always seeking
for professionals, people are
not willing to let go of an op-
portunity to do something

new and challenging
)

the actual work they do.

As per a recent survey more
than 40% people today are
dissatisfled with their jobs as
there is the wide gap be-
tween what they study in the
class room as compared to

f
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effect. (B} The percentage of bad loans
Mark answer (2) if statement (B) | given by the banks to the priority sec-
is the cause and statement (A) is its | toris very Jow compared to corporate

effect, sector.

Mark answer (3) if both the state- 8. Cause : All the major rivers in
ments () and (B} are independent the state have been flowing way
causes. over the danger level for the past

Mark answer (4) if both the state- few weeks.
ments (A) and (B) are effects of inde- | yp10h of the following is/are
pendent causes.

Mark (5) if both state- gao::;gle effect(s) of the above
ments {A) and (B) are effects of some
common cause. {A) Many villages situated near
1. (A) Many seats In the private the river banks are sub-
engineering colleges in the state have merged forcing residents to
remained vacant this year. flee.

{B) The government engineering (B) Government has decided to
colleges in the state could accommo- provide altemate shelter to all
date all the students who sought ad- the affected villagers residing
mission this year. near the river banks.

2. (A) The government of India has (O) The entire state has been put

lo operate 1 specified mtemsione on high flood alert
00 e in specifie rnatio
rouths, e in 8pe (1) Only (a)
(B} There has been a consider- (2) Only {A) and (B)
able increase in the flow of foreign (3) Only (B) and (C)
tourists to India. (4) All (4), (B) and (C)
% (AZl ge state goverttlhmenttal:nas (5) None of these
now deci to increase the s .
duty on house purchases with immel3 (Rat m;d:‘: o,:;;;
diate effect. ’

. o ’ . I TER IS IS ' WR W I i 7
) YA UUVE AT E T UM VLS LE LC/ALGSEF&VE"{FEC‘?r /"f
; 4
k (3} Some people in the sanize employment engage- 7. Effect : This year I'najoﬂty of _lﬁvﬂcl
1 take education loan for oom-hy ment activities to improve the meymm ms:::len tshmof e "‘2: v
pleting higher education and Job satisfaction of emplos g;nce apecial:::tlon ted g, f
are expected to repay the (5) Only a few people study for Which of the following |
loans themselves after they high specialized courses in probable cause of the :;nwb‘ a i":
start working, the country and they are al- fect 7 . o
4} As employees tod of ways in demand as there A
dﬂm‘: ;.;cgoup :gdmback. high scale gap in many orga- M uL:t?: HR smdagamu::tu% rﬂ’i
grounds it becomes difficuit nlzz(lglns. PO Online ter job offers than ou,ge‘:.t:"“ 4;"
for the HR department to or- 2 . 80.11.2014) cializations. De. ":1
{2} The management Instityg, of. {
RBI GRADE-B NABARD fo ts fnal year ooy Jeatin 7
nts,
GRADE—A OFFICER EXAMS (3) Last year the studentg ' i’;
. finance specializatio
Directions (1-8) : Below in each (B) The real estate prices have | most of thl:;clcucraﬂve gﬁl;:?ed g:i’
Question are given two statements (A) decreased considerably during the last a-vis students with other s“& P
&n; (l?émess stztatements may be ;i- few months. cializations. pe- ﬂ"l
ependent causes or may be 4. (A) Most of the steel manufac- (4) The management institute
gfects of independent causes or a turing companies in the country have recently started its ﬂna::z: ’;
umon cause. One of these state- | 104 considerable profit during the specialization in addition
ments may be the effect of the other finan " 'M
statement, Read both the statements | 25t ipancial year. toarketing and HR being . iy
and decide which of the following an- (B) Many Asian countries h;::l fered earber ¢
swer choice correctly depicts the re- [ Peenimporting huge quantities of (5} None of thmesem Grad §
lationship between these two state- | from India. B Officer
ments, 8. {A) The bank decided to give Exam, e
(RBI Grade-B Officer Exam, 2007) | advances to the priority sector at the 8. Effect : Govt. has allowed all the f
Mark answer (1} if statement (A) | rate of interest at par with the corpo- airlines to charge additiona] P
is the cause and statement (B} Is its | rate sector. amount as peak time congestion

charges for the flights landing
between 6 .00 a.m. to 10.00 a.m,
Which of the following is a prob-
able cause of the above effect ?
(1) All the airline companies hag '
threatened to suspend their |
services during peak hours.

i
{2) The Govt. has increased its |
[

- Th TE

tax for peak time flights.

(3) The aircraft are routinely put
on hold over the airports
while landing during peak
time causing extra fuel con-
sumption.

(4) The airlines companies can
now charge unlimited addi-
tional charge for peak time
flights

(5) None of these

Grade-B Officet

et Exam, 2007)

Directions (9-19) : Below in
each question are given two state-
ments (A) and (B). These statements
may be either independent causes o
may be effects of independent cause$
or a common cause. One of these
statements may be the effect of the
other statement, Read both the state-
ments and decide which of the follo%-
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!°%1"e%¢-' ,ﬂfﬂ,aﬂanslup R these twy ’ pmbablemu;mgcanbea
ok e foc 7 vt
’ Q&,} J Exam. 11,1, ) {1} The teacher accompanying
Tty answer (1) if state ““’ﬁ;"‘:@ldﬂldrmrenm dur.

}";q%%% e cause and statement (B) j5 its © 'ﬁi bu:;“me.\’-

| 180 childreny
R
'3 h’ﬂfll * pmeammsmm‘wmna the main highway fumon
e " % & answex (3) ifboth the @ El:g:mmeb-minm
lyg, U (a) and (B) are indepeng were travelling
| et ent did not report afier the break
!ve(:; ‘ﬂlﬁl:rx. answer {4) if both the stape. Ja . h.altlng Place on their
h%e:. pents (4) and (B) are effects of inge_ [4) The school authority banned
%ﬂe t causes. all school picnics for the next
Sy Mark answer (8} if both the State- six months with immediate

cause. {5) None of these

Aviation 18 important, both ag an
jpdustry In fis ownright and ag g f,_
(litator for the success and competi.
of other industries, The suc-
cess of the aviation Industry i also
, %, jntegral to national competitivenegs,
13y, | cconomic development and socia]
I ss. More importantly, aviation
supports those new economy sectors
onwhich India’s future prosperity re-
lies, like Information technology, bio-
technology, finance and €lectronics,

That India’s alr transport industry is

o the rise Is an undisputable fact,
However, the Indian will only
achieve its true potential if we are ahle
* { to compete in the industries of the
t future. We need to be strong in the
areas with potential to grow and the
role of India’s aviation sector is criti-
cal in this regard. :
8. India needs to make massive
investments in infrastructure
development,
10. Growth in India’s aviation sec-
tor is important to its economic
development.

Il India has made substantial de-
velopment in the biotechnology
sector.

2. India has tremendous potential

to grow In the emerging indus-
tries

3. Aviation sector in India has not
fulfilled its role in the past in jts
€conomic development.

. Effect : At least twenty school chil-
dren were seriously injured

while going for a school picnic
during the weekend.

ity
|

ity

A

P,
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15. Cause : Government hag re-
cently decided to hike the pro-
turement price of paddy for the
rabi crops,

Which of the foll will be a

Possible effect of the above

cause?

(1) The farmers may be encour-
aged to cultivate paddy for
the rabi season.

{2) The farmers may switch over
to other cash crops in their
paddy fields.

(3) There was a drop in produc-
tion of paddy during kharif
season,

{4) Govemment may not increase
the procurement price of

paddy during the next kharif
season,

(5) Government will buy paddy
from the open market dur-
ing the next few months.

(RBI Grade-B Officer

Exam. 11.10.2009)

Directions (16-19) : Read the

following information and five state-

ments given below it carefully and an-
swer the questions which follow.

(RBI Grade-B Officer

Exam. 11.10.2009)

Exodus from rural areas to the

urban hubs in search of job opportu-
nities has now declined to nearly
twenty-six percent of what it was at
the turn of 21st century.

{A) Since the last decade, the
rural economy has trans-
formed itself into a bank-
able, profit making and
commercially viable ven-

(B) Job opportunities differ tn
urban and rural arcas

Q Th; load on mwuc:bﬁ
and resources in the
areas which hadfnemall::ne:
unmanageable for a
time has been eaced a Httle
since the last decade.

(D} This trend of reverse mi-
gration which was seen
only in developed coun-
tries till now has entered
the scenes of developing
nations as well

{E) According to a recent re-
port more than eighty per-
cent of the professionals
having roots in rnural areas
prefer to work in urban cit-
fes rather than their home
villages.

18. Which of the statemnents num-
bered (A). (B), (C), (D) and {E)
mentioned above represents
an effect of the given infor-

mation most appropriately?
(1} B @ cC
(3)D ME

{O) EitherDorE

17. Which of the statements num-
bered (A), (B}, (C), (D) and (E)
mentioned above represents a
cause of the given Information

most appropriately?
ME 2 D
B cC 4B
) A

18. Which of the statements num-
bered (4), (B), (C), (D) and (E)
mentioned above represents

an assumption most appropri-
ately ? (An assumption 1s

something supposed or taken
for granted)

(1A 2B
@ C 4)BothAandC
B D
19. Which of the statements num-
mentioned above would
weaken/contradict the facts
presented in the paragraph?
ma @8
{3) C 4 D
) E
Directions (20 - 22) : Below in
each question are given two state-
ments (A) and (B). These statements
may be either independent causes or
may be effects of independent causes

I A
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s
of a comunon -cyause. One of these
statements may be the effect of the
other statement. Read both the state-
ments and decide which of the follow-
ing answer choice correctly depicts
the relationship between these two

statements.
(RBI Officer Grade ‘B’ Online

Exam. 28.08.2013)

Mark answer (1) if statement (4)

Is the cause and statement (B) is its
effect.
Mark answer (2) if statement (B)

is the cause and statement (A) 1s its
effect.
Mark answer (3) if both the state-
ments (A) and (B) are independent
{ causes,
Mark anawer (4) if both the state-
ments (A) and (B) are effects of inde-
pendent causes.

Mark answer (5} if both the state-
ments {A) and (B) are effects of some

common cause,
20. (1) Government has increased
number of buses plying be-
I tween Mumbai and Surat.
{2) The government has allowed
private bus owners to oper-
ate between Mumbal and Su-
rat.
21. (1) The association of manage-
ment colleges conducted a
combined admission exam for
: all the institutes this year.
i (2) As the dates for entrance
' exam for many management
! colleges clashed last year,
many candidates complained
that they could not appear for
a number of entrance exams,
(1) The department store owner
put cameras for surveillance
of the store.
{2) Many products were report-
: ed missing by the staff work-
f Ing in the departmental store.
Directions (23-25) : Below in
each question are given two state-
ments (A} and (B). These statements
may be either independent causes or
may be effects of independent causes
or a common cause. One of these
statements may be the effect of the
other statement. Read both the state-
ments and decide which of the follow-
Ing answer choice correctly depicts
the relationship between these two
statements,

(RBI Officer Grade ‘B Phage.-y
Exam, 03.08.2014)

22.

LAV F L

U U Matk adelwds (1) 1P RAtEnteRC tAP

is the cause and statement (B) is its

effect.
Mark answer (2} if statement (B)

is the cause and statement (A) is ils
effect. i
Mark answer (3) if both the state-
ments {A) and (B) are independent
causes.

Mark answer {4) if both the state-
ments {A) and (B) are effects of inde-

pendent causes.
Mark answer (5) if both the state-
ments (A) and (B) are effects of some

common cause. ' .
Com| Asales shampoo

el urbag.:yreas It has launched
small sachets for penetration
into the rural areas.

(B) Company A wants to expand
its business to rural areas
as rural people cannot afford
larger packets.

24. {A) Railway Minister has in-
creased fare by 14 per cent
but he has slashed the fare
of second class.

(B) Second class travellers have
sent letters to the Railway
Ministry for rolling back the
hike in fare.

25. (A Lungcanceris the most haz-

ardous disease in India. It

Is not necessarily caused

~ 7 {H All the eny

(5) Apartments whicy hﬂ"eb&,,

Exam, 21129
27. Read the following mform;”n

ny S Werel:nh:-““or\ /
months ago thay ed]th'%

hovias raccided 1€ o |

shortly, o allwle N

(2) The area wey,,, ™

ny has renteq umt;“ %"h

does not have 5 M‘N‘
lege or hospitg) ahclh%l_

radius, ity 3“1

(3) Themaintenane,, ™

been portments o,

been renteq by the h ha%

0 hat v the oy

pbyeeswmndh%t?ilem_

amount on thej, %pa’“k

{4) There hal'ﬁbeen talka

the company chap By

current office joo o 1

the new office | tion ay

very far from th?:r“gnh

Ay

which the apart,
been rented,  Bha,

rented by the ¢,

not have adequate . 2%
transport fadh?je:,te Pubi,
{RBI omuf M 'nl MI

carefully to answ.
question. o the gy
A few days after the
results of a private ¢
. Lollege were declareq, all the

due to smoking rather pas- professors of the college went
sive smoking is more dan- a strike.
gerous. Which of the following mayhey
(B) Government has banned reason behind the profesyy
smoking in public and it has going on strike ?
been made a punishable of- (1) A few new professors wer
fence. app:intﬁ last year at
€qual salary even tho
26. Study the following information they were not as quauﬂedu?s
to answer the given question. others.
Company S has recently rented (2) None of the professors wee
many apartments in building Y allowed to be external exan-
for providing offictal quarters to iner for other affiliated
its employees. However, although leges this time.
many employees had requested (3) For the third time in a rov
the company to provide accomo- the teachers were blamedfr
dation around six months ago, 101:’ reszl&s despite theircor
since the announcernent of quar- sistent efforts.
ters last month, hardly any em. ) The salarles o the profec’
1 have not been Sinc®
Ployees has signed up for the new th ears
faclity. (5) 'rhe - tgody ara:tlon was
e result dec
Which of the following may not delayed by over a
be a reason for the emp} ’ thi ster. :
: ployees s seme §
unwillingness to live in the offi- (NABARD Officer Mw
cial quarters ? Online Exam. 01.033¢
- BPRE-90¢ } —
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PWJJ'M d the following information {8) ifboth th .
t:,h‘ b # mamsm the given question, e statements (I} and

tey b, and (11} are independent causes
3 NQ te gevere power ahortage ( b
an% l&;'ﬂ pesp! power cuts, the Gou. 4} ifboth the state: aents (1) and
e R@ and ¢ of X has refused to buy 'I:I;Ju:r;cfrects of independent

E:?:nl & meﬂt of State X has dended buy_

ec%h oy ?
g 2 (1) At present State X buys pow-
"Pay% er from a neighbouring
b State-State Y.
.kaabqq (2) Company ABC is afalrly new
fg’ng § company and does not have
o y the experience of handlmg a
auOnh project efficiently
:;'ea b {3} The government of State X is
hay planning to open its own pow-
er plant in a period of five
Veb% years in order to install suf-
.?;afta ficlent power capacity
"y [ g4 Although Company ABC has
bl quoted a little higher price
hage, than expected, it has as-
20 sured the Government that
athg the state will receive undis-
fivey rupted power throughout the
day and night.
St {5) Many people in State X have
e become habituated to the
the power cuts and as a result
o hardly anyone complains
about the same.
¢ (NABARD Officer Grade A’
it Online Exam. 01.03.2015)
| [INSURANCE EXAMS
’
i Directions (1-8) : Below each
| question are given two statements (I
and {1i). These statements may be €i-
ther independent causes or may be
effects of independent causes or
common cause. One of these state-
ment may be the effect of the other
statements. Read both the statements

m . 2 private company in the
! "zol'% same state.
3 ,% which of the following may be g

power from ABC Power Compa-

due towhich the Govern-

ing Powcfﬁ'om the said compa-

and decide which of the followlng an-
swer cholce correctly depicts the re-
lationship between these two state-

ments and Give Answer —
(LIC Assistant Administrative
Officer Exam. 2008)

(1) if statement {I) Is the causc
) and statement (misits effect.
t (M) is the cause

(2) if statement {
’ and statement (1) is its effect.

(8) ifboth the statements (i) and
() are effects of some com-
mon cause,

1. () The university authority has
instructed all the colleges
under its jurisdiction to ban
use of all phones inside to
college premises.

(i) Majority of the teachers of the
colleges signed a joint peti-
tion to the university com-
plaining the disturbances
caused by cell phone ring-
tones inside the classrooms.
Majority of the people resid-
ing in the locality have de-
clded to protest against the

. municipality authority’s deci-

sion to allow construction of

a shopping mall in the local-

ity.

() Many shopping malls have
been opened all over the city
in the recent time,

8. (I} The prices of petrol and die-
sel in the domestic market
have remained unchanged for
the past few months.

(1) The crude oil prices in the
international market have

" gone up substantially in: the

last few months.

The meteorological depart-
ment has issued a statement
mentioning deficient rainfall
during monsoon in many
parts of the country.

(I) The Government has lowered

the revised estimated GDP

growth from the level of ear-
lier estimates,

The Government has decided
to give tax benefits for small
savings for investments and
benefit accruals. However all
withdrawals of such savings
are to be taxed.
(lI} People have been investing
more in small savings than in
equity market to avail maxi-
mum tax benefits.

6. In this question there are two
statements {A) and (B). These
statements may either be inde-

2.

4.

s 0

pendent causes or effects of in-

dependent cause or a common

cause. One of these satatements

may be the effect of the other
statement. Read both the state-
ments carefully and decide
which of the following answer
cholces correctly depicts the re-
lationship between these two
statements :

(4) The management of the compa-

ny XYZ has recently decided to
revise its salary structure and
also give a number of incentives
to employees.

{B} The attrition rate of company XYZ

has doubled this year, as com-

pared to last year and is show-

ing a rising trend.

(1) Both statements {A) and (B}
are effect of some conunon
cause.

(2) Both statements (a) and (B
are independent causes.

(3} Statement (B} is the cause
and statement (A) is its ef-
fect.

(4) Statements (A) and (B) are ef-
fects of independent causes.

(5] Statement (A) is the cause
and statement (B) is its ef-
fect.

(NIACL Administrative Otficer
{AO) Exam, 10.01.2018)

7.1n this question there are two

statements (A) and (B). These
statements may either be inde-
pendent causes or effects of in-
dependent cause or a common
cause. One of these statements
may be the effect of the other
statement. Read both the state-
ments carefully and decide which
of the following answer choices
correctly depicts the relationship
between these two statements :

(8) According to the latest data,
the number of electric cars in
the Country Y has increased
in the recent years.

{B) The oil prices have decreased
in the Country Y.

(1) Both statements {A) and (B)
are effects of some common
cause,

(2) Both statements (A) and (B)
are independent causes.

(3) Statement (B} is the cause and
statement (A) is its effect.

{4} Statements (A) and (B) are ef-
fects of independent causes.

(5) Statement{A)1ls the cause and
statement (B) is its effect.

(NIACL Administrative Officer
{AO) Oxnline Exam, 11.01.20108)

. BPRE-907 }rm—————
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8. In this question there are two ] 1 89.(1 60.(4) —— N‘:
statements (A) and (B). These may 57.8)] 88.5) {1] 64.03) | EXPLANATIONS f’]:
either be Independent causes or 61.(2}} 632.4)] 63.01) : 4 ¢
effects of independent causes or 88.5)) e8.4) | 67.2) | 68.2)] || NATIONALISED BANRS ,(‘::e
ac .0 f the Ly
statements may b the effect of | |_0042)] 7042 | 710 | 72| | |& TBPS PO/MT/SO Exap )
the other statement. Read bgl‘.h 73.(1)) 74.42)| 75.(1) | 76.(2) 1. (1) Statement (A} — Cayg, 4 ]'

the statements carefully and de- ] 1 Stat t (B) — ¢
cide which of the followtnganswer | | 77.3)] 78.49) | 78.3) [ so.1) 2.(2) Stat?x;:?nt (Es)—-gifect 4
chofces correctly depicts the re- 8L(1}] 82.1) | 83.(1) | 84.4) Hee o
lationship between these two 1) | 88.9 Statement (A) — Effect ¢
statements, 88.3)] se.5) ] 87.01) 3. (2) Statement (A) — Cayg, |
(A} As per the statistics there has 88.44}1 90.1) | 91.(8) | 92.(1) Statement (B) — Effecy ,1,[
been a rise in the number of 83.5)| 94.2) | 95.4) | 96.2) 4. (2) Statement (A) — Cayg, ,
electric cars in country Y this Statement (B} — Effecy 9[
year, 7| 9s | oon J300M) || o he statements (8) angpy
(B) The oil prices have fallen 101.(5) | 102.(2) {103.(3) | 104.(1) are effects of some common #L
strongly in country ‘Y thisyear Both the statements
and estimated to stay low for | | 108:8)| 106.(1) |107.(3) 109'(5) ¢ fﬁ’ce:rect of?ndependen!a? Caugey $
atleast two years for now and 108.(4) | 110.(5) [111.{4) | 112.(1) 7. (1) Statement (A) — Cauge
not decrease further. ' ' Statement (B) — Effect ¢!
(1) a?ttatement {A) is the cause and SBI PO EXAMS 8. (1) Statement (&) — Caue
atement (B) 1s its effect Statement (B) — Effect B
@ f;;?;‘g}ﬁggp‘:n‘mdﬂg L@ ) 2@ 9.@) 4@ || o o) statement(B)— Cause ‘
(3) Statement (B} 1s the cause and 5. (5) 6] 2.2 83 )Statcmeni m —_ 2ﬂ‘ect
statement (A) is its effect . 10.(1) | 11. (4 { 12. ©2) 10. (1) Statemen —Cause g
(4) Both statements (A) and (B) are 8. o) @ Statement (B) — Effect
independent causes 15601142 | 18.W[16.6) || 1) Boththe statements (A)and(s) ¢
(5) Both statements (A} and (B) are 17.(5) | 18.(3) | 19.(2) | 20. (5) are effect of independent causes,
effects of some common cause 12. (1) Statement (A) ~—~ Cause
. e (1 1)124.01
(NIACL Administrative Officer 21.2 | 22.0) | 23,1 L Statement (B) — Effect [
(AO) Online Exam, 12.01.2018) | | 28, (1]) 286. ((5: 2:. ((f; : : ::: 18. (4) B‘:rth thef ﬁwmﬁm(? and ()
, 29.(1 30.(1) | 81. areeffect o ependent causes,
SHORT ANSWERS == 14. (2) Statement (B) — Cause ll
Statement {A) — Effect
NATIONALISED BANKS RBI GRADE-B/ 18, (2) Statement (B) — Cause l
& IBPS PO/MT/SO EXAMS NABARD GRADE-A Statement (A) — Effect
16. (5} Both the statements {A) and (B)
L) | 202 | 32| 49 OFFICER EXAMS are effect of some common cause. |
85| 69| 7| 8.1 17. (1) Statemnent (A) — Cause
9.2} | 1041) | 139 | 12.1) L{4) 2. | 8.2 4. Statement (B) — Effect
13.(4) | 14.2) | 15.42) | 16.(5) 5. (3) 6.4 ] 73] 8.0 18. (2) :tatement ((:]] fC;us:
tatement (A) — Effec
L] '8 - - 5 [ 3 * L] .
17.(1) | 18.2) | 1944 | 20.(5) 2.2) | 10.(1) | 11 (3) | 12. (1) 19, (4) Both the statements (4) and
2L(1) | 22.5) | 23.(5) | 24.1) 13.(3 | 14.(29) | 18.(1) | 16, (2) are effects of independent causes.
25:4) | 2602 | 2749 | 28.9)] || 17, () | 18.(5) | 19.(5) {20.(2) {| 20.(5)Boththe statements(a)and(®}
Lse.
2000 | 902 [a1) | 20| | Mor o (22 0 T g @ 2.0 || . ?;Tﬁiﬁifﬂ; o
3349 | 342 3841 | 36.5) (25 0 | 28 @ | 27.(3) [ 28. (2) Statement (A) — Effect
37.3) | 38.5) | 39.(3) | 40.(9) 22. (5) Both the statements (A) and (B)
20 | 420 {43.2) | 449]|| INSURANCE EXAMS are effect of some common cavse.
450 | 60 | a7 48.(1) 23. (5) Both the statements (4) and ()
— 1.(2) 20| s.@| aq are effect of some common cause.
49.(1} | 80.(4) 51.(2) 52.2) : . ' 24. (1) Statement (A) — Cause
53.3) | B4y | 551) | se.q) .01 @ | 76| 8. Statement (B) — Effect
i p————— gmm A A =
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200. (4) Statements {C) and (D) repre-
sent the effect the information
glven above,

101. {S) Only statement (E) may weak-
en/contradict the facts present-
ed in the paragraph.

102.(2) Obviously, statements (C) and
(D) represent the cause for issu-

103, ing any advertisement.
(3) Obviously, statement (4) -
lights the limitation of an aclluvgl;-
tisement.

104. (1) Obviously, statement (B) is the
cause and statement (A) is its ef-

fect,

108. (3) Obviously, statement {A}1s the
cause and statement (B) is its
effect.
106. (1) Obviously, statement (B) is
the cause and statement (4) is its
effect.

107.{3) Obviously, staternent (A} is
the cause and statement (B) is
its effect.

108. {5) Obviously, option (5} is the
reason behind the decision of the
Medical Association of the State X,

109. (4) Obviously, option (4) cannot be
the reason for the given problem.
110. {5} Obviously, option (5) may be
the reason for tuming down the
proposal of Company A. Area X is
induiged in illegal trade of agri-
culture goods. Therefore, the
Government may not be interest-
ed in developing infrastructure in
the Area X.
111. (4} Clearly, option {(4) may not be
a reason for the criticism of the
Government of State D for accept-
ing the proposal.
112, (1) Option (1} does not explain the
reason behind the decision of
parents. Therefore, Option (1) may
not be a reason for the decrease
in number of participants for in-
terschool sports competition from
School M.

SBI PO EXAMS

| CAUSE & EFFECT |

3. (2) Statement B Ja the cause and
statement Ais ita effect. Owing to
{nability of the small banks to with-
stand the competitions of the big-
ger banks the Reserve Bank of
India put restrictions on few small
banlks.

4. (4) Both the statements A and B
are effects of independent causes.

8. (5} Both the statements are ef-
fects of some commeon cause.

6. (1) The company has been mak-
ing huge losses for the past five
years and is unable to pay salary
{o its employees in time.

7. (2) The petroleum companies will
increase the prices of petrol and
diesel by about 10 percent.

8. (3} Only statements (A), {B) and
(E} can be the possible conse-
quences of the decision.

9. (1) Only statements (A} and (B} can
be the probable causes of the
decision.

10. (1) Clearly statement (A) is the
cause and statement (B) is its ef-
fect,

11. {4) Clearly, both the statements
{A) and (B) are effects of indepen-
dent causes,

12. {2) Clearly statement (B) is the
cause and statement (A) is its ef-
fect.

13. (5} Both the statements (A) and
(B) are effects of some common
cause.

14. {2) Clearly statement (B} is the

cause and statement (A} Is its ef-

fect,

15. (1} Obviously, statement () is the '

cause and statement (B) is its ef-

fect.

16. {4) Clearly, both the statements

{A} and (B} are effects of indepen-

dent causes.

17. (5) Clearly, both the statements

(A) and (B) are effects of some

COINIION cause,

18. (3) Clearly, both the statements (A)

and (B} are independent causes.

-/

19, (2) Clearly. statement (g ,, )
cause and statement (A1s It;h‘ 11"‘:
fect. o. ‘} fof

{5) Obviouslyboth the LI

(A) and (B} are effects of "y

{common) cause. Both mm:z: 'w“cﬂ

seek to promote education Fo
shum children. 9:; »
(2) Itisclear that statemeny |
the cause and statement (mlglul: fgtl‘:
effect. ,l"

22. (1) Obviously, statement () '
the cause and statement (B) iy, ¢
effect. !’dt

23. (1) Obvicusly, statement (A) )

21.

$Sthe
cause and statement (B isitg o §

fect. #
24, (1) Obviously, statement () ;, ¥
the cause and statement (g) isits }ﬂ
effect. o

28. (1) Obviously Option (1) mayy, ¥
the reason. 8
26, (5) Obviously both the sta L
(A) and (B) are effects of sap, 3
{common) cause. Both
seeck to promote education amang t
slum children. 1
27. (2} 1tis clear that statement (B} i
the cause and statement (A} is jt5
effect.
28. (1) Obviously, statement (4) s f
the cause and statement (B) lajts !
effect. |
(1) Obviously, statement (4) is the
cause and statement (B} is its ef-
fect. |
[1) Obviously, statement (A) is
the cause and statement (B} is its
effect.
(1) In any advertisement the point
which Is highlighted is liked by
the people. The statement dis-
cusses the safety aspect of the
car. So, it may be said that cus-
tomers are very much aware
about their safety.
32. (1) Obviously Option (1} may be
the reason.

m.

31.

1. {2) Statement B is the cause and

RBI GRADE-B/NABARD GRADE~A OFFICER EXAMS

statement A is its effect.

Owing to agitation against high
fees the Government appointed a
committee to look into the matter.
2. (2} Statement Bis the cause and
statement A s its effect. Owing to
reduction in the procurement
price of Kharif crops the farmers
are reluctant to sell their Kharif

crops to Government agencies,

L, {4) According to question, both
the statements (A) and (B) are
effect of independent causes.

2, (1) According to question, (A) is
the cause and statement (B) isits
effect.

3. (2) According to question,
statement (B} 1s the cause and
statement (A) is its effect.

J mnm_ﬂlﬁh.mn_m_n_-—

4.{2) According to question,
statement (B) is the cause and
statement (A} is its effect.

8. (3) According to question, both
the statement (A) and (B) art
Independent causes.

6. (4) All (A), (B) and (C)

7. (3) Last year the students with
finance specialization bagged
most of the lucrative offers vis-&°

e ————
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' Ac cording to question,

Sy

21. (2)Statement (B)is the cause and
Statement (A) is its effect.

22, (2) Statement {B)isthe causeand
Statement (4) is its effect,
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/ud;;with other special-

2@ According to question, state-
ment (11) is the cause and state-
ment (I} is its effect,

3. {3) According to question, both

s @ is th 23. (2) Obviously, statement (B} is the the statements (f) and (11) are tn-
. lat% }sla ent (B} ot :ff cause and Cause and statement (A) Is its ef- dependent causes,

temgnity tement (A) 15 Its effect. fect

ydi| % cording to questi o 4. (1) According o question, state-
Ate YW e Acco t (4) Is the caus of. | 24. (2) Obviously, statement (B) is ment (1) 1s the cause and state-
le me,, ¢ satemen e and the cause and statement () isits ment (11} 1s its effect.

%"({B‘(t ; glatement () ::lts eﬂ'::ct. effect, 8. (3) According to question, both
. ) question, both | o8, (4 Obvi the statements (1) and (1Y) are in-
E:?htw oo the statement {(A) and (B) are '[:a}use :nu:b;’t:tt?;?ﬁ?ig ::t:lt: dependent causes.

Yoy paendem. e ® orming well an ot
. X ﬂ] cC estion, 28, (4 Al employ are
| P W e i T | % 1 ey | o
“l[aj 5 statement (B) is its effect. neihe ol- agement has decided to revise

by, ocording t fer by the company S at a glance. the salary structure and provide
() 1.6 0 question, both However, critical analysis of all a number of incentives to em-

%b‘ the sm:m:nt (A) and (B) are the options reveals that option * ployees in order to inprove the
oy independen (4) is an uncertain event. There- situation. Thus, statement (B) is
8 o 34.(2) The bus in which the children fore, it may not be a reason for the cause and statement (A) is its
Sty g were travelling met with an accj- the employee's unwillingness to effect.
l"onl% dent while taking turn on the main live in the official quarters. Attrition Rate : A measure of

8%1 highway. 27. {3) All the professors of the Com- the number of individuals or ftems
Wentyy, | 18. (1) The farmers may be encour- merce College went on a strike moving out of a collective group
Rt {4y, 1!: aged to cultivate paddy for the after the results were declared. over a specific period of time.

rabi season, Therefore, option (3) could be a 7. {(§) Itisclearthat statemcn!ts [?;
f:lt | 16.(2) Statement (C) is the effect. reason for the strike. :;%&;“msmti}l t)he
! [B“"! 17.(5) Statement (4) is the cause. 28. (2) Obviously option (2) may be number of electric cars, the de-
Wiy, 18. (5} Statement (D) fs an assump- the reason. mand for oil falls substantially
- { oil have

™ tion INSURANCE EXAMS and hence the prices o

o, (5} Statement (E) contradicts the CE been decreased in the Country Y.
) & facts stated in the paragraph. 1. {2) According to question, state- 8. (1) Clearly, statement (4) is the
Bisg| 20. (2)Statement (B)is the causeand ment (1) is the cause and state- cause and statement B is its ef-

statement (A} is its effect. ment (I) is its effect. fect. aaa
€ poi
ked
| MODEL EXERCISES
of the
™ Directions {1-3) : In each of these (4) If' is an effect but ‘T is not its Il. While the Electricity Division
' of State XYZ has revised the
esti there are given two state- immediate and principal cause
vy questions, pay and perks of its employ-
ments numbered I and I1. These state-

yie{ ments may be efther independent
causes or may be effects of indepen-
dent causes. One of these statements
g may be the effect of the other state-
ment. Read both the statements and
n.} decide which of the following answer
#] choices correctly depicts the relation-
ship between these two statements.
y{ Mark answer as
= (1) if T'isthe 1 andpnin
cipal cause and ‘IF its effec
(2) if ‘T is effect and I’ is its im-
mediate and principle cause
is an effect but II' is not
9 g: jmmediate and principal

cause

{5) None of these

1.1, ‘The interview panel has rec-
ommended 5 candidates for 3
vacancies which are to be filled
immediately in Company Z.

II. The 5 candidates have been
asked to contact company Z
next week to know their re-
sult and accordingly to collect
appointment letters.

The financlal position of the

Electricity Division of State

XYZ has weakened and it has

made demand to the govern-
ment for more subsidies,

{ BPRE-911

ees, several subscribers and
farmers have refused to pay
long pending dues.

Recently, the prices of the per-
sonal computers (PCs) have
come down.

II. Some school children are
showing keen interest in
learning computers.

Directions (4-8) : In each of these

questions, two statements I and Il are
given. These may have a cause and
effect relationship or may have
independent causes or be the effects
of independent causes. Read the
statements and mark answer as

3.1




6. Statement I : Not a single Indi-
* has faredwell in an ail-Asian var-
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(1) if statement ! is the cause and
statement H is its effect.
{2) if statement I is the cause and
statement [ is {ts effect.
{3) ifboth the statements I and II are
effects of independent causes.
{4} ifboth the statements [ and I are
effects of some common cause.
{5) None of these
4. Statement I ; Drinking tea has
a number of health benefits. A
cup of the beverage can help
slash the risk of developing can-
cer by shrinking tumours,
Statement Il : The new research
has shown that black tea could
help prevent cancer. The com-
pound Theaflavin-2 which has an-
tioxidant properties reduces the
risk of some cancers as well as
heart disease,
8. Statement I : India has lost a
staggering $462 billion in illicit
financial flows due to tax eva-
slon, crime and corruption post-
independence according to a re-
port released by Washington-
based Global Financial Integrity.
Statement II : More than 40%
of the FDIs to India originate
from Mauritius. Mauritius has
now agreed to negotiate and re-
Avoidance Agreement (DTAA)
with India, as capital gains is ex-
empted from tax in Mauritius and
a Mauritian company cannot be
taxed in India,

an University, including the IITs,

sity ranking for the year 2011.
HT-Bombay is the only one to fig-
ure in the world top 200 at 187,
lower than the previous years
rank of 163,

Statement 17 t A university

8. In this question there are two

Since , “Thrice-Spice’
restau:'t:nltacunhaczl to city X has
earned accolades from each ofits
visitors. Alter almost a year of
successful service, 'l'hrice-S.pice
has been nominated for the Best
Restaurant of the City’ Award.
But, against the expectation of
many people, it lost the award to
a newbie in the market.

Which of the following can be the
major reason for this ?

{1) The restaurant that won the
award is a multi-cuisine res-
taurant and offers a much
wider variety than ‘Thrice-
Spice’,

{2) The first month profit of the
new restaurant was higher
than that of ‘Thrice-Spice’,
which according to some peo-
pleis because it treats its cus-
tomers to Karaoke.

(3) The sale of Thrice-Spice’ in
the last month was a little
lower than the winning res-
taurant due to its weekend
discount offers in the said
maonth.

(4} Though the winning restau-
rant has only one outlet, un-
like Thrice-Spice’ chains it's
located in the heart of the
city.

(5) ‘Thrice-Spice’ remains closed
on every Wednesday, where-
as the other restaurants of
the city are open throughout
the week.

statements (A) and (B). These
statements may either be
independent causes or effects of
mdcpendentwusesoraomnmm
cause. One of these statements
may be the effect of the other
statement. Read both the

(4) Both Statemen,
are ‘ndepmdmtr A 4

(5} Both Stﬂtcrnmtae(;m"
cause. ""M
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1.(1) 2.(2) (3) ™
5.(3) 6.(4) 741 8y

EXPLANATIONS

1. (1) Statement I is the

effect because five @
recommended andtheyhﬂt'ebem
asked to com Z
result. - Famy mhmm'
2. (2) Statement Il is the
and principal cause anq | 18 y
effect because after paying re.
vised pay and perks to ity e,
ployes and unable tg recover g
pending dues the financiy) ol
tion of Electricity Division of Sty
XYZ has weakened and ot jys
made demand to the governmen
for more subsidies.
3. (3) Both the statements are inde.
pendent to each other and staie
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